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Read the following instructions carefully before you begin to answer the questions.
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11.

12.

IMPORTANT INSTRUCTIONS

This Question Booklet contains questions of Language (Qualifying), General Studies and Social Science
which includes History, Geography, Economics and Political Science subject. Choose the questions from any
two subjects out of four subjects of Social Science. At least one subject History OR Geography is mandatory.
Part-I, Language (Qualifying) consists of Question Nos. 1 to 30. In Part—I, English Language consists of
Question Nos. E-1 to E-8 (common for all), Hindi Language consists of Question Nos. H-9 to H-30, Urdu
Language consists of Question Nos. U-9 to U-30 and Bengali Language consists of Question Nos. B-9 to B-30
(Students are required to choose the questions from any one language out of three languages). Part-1I consists
of Question Nos. 31 to 70 and Part-II1, History consists of Question Nos. H-1 to H-40, Part-I1I, Geography
consists of Quetions Nos. G-1 to G-40, Part-III, Economics consists of Question Nos. E-1 to E-40 and Part-III,
Political Science consists of Question Nos. P-1 to P-40. (the questions and their responses are printed in
English and Hindi versions both of Part-II and Part-III)

All questions carry equal marks.

An Answer Sheet has been supplied inside the question booklet to mark the answers. You must write your Roll
Number and other particulars in the space provided in the Answer Sheet, failing which your Answer Sheet will
not be evaluated.

Immediately after commencement of the examination, you should check up your Question Booklet and
attached answer sheet and ensure that the Question Booklet Series is printed on the top right - hand corner of
the Booklet and the series encoded in answer sheet are same. Also please check that the Booklet contains 64
printed pages including two pages (Page Nos. 62 and 63) for Rough Work and no page or question is missing
or unprinted or torn or repeated or question booklet and answer sheet have different series. If you find any
defect in this Booklet, get it replaced immediately by a complete Booklet with OMR sheet of the same series.
You must write your Roll Number in the space provided on the top of this page. Do not write anything else on
the Question Booklet.

Each question comprises of Five responses—(A), (B), (C), (D) and (E). You are to select ONLY ONE correct
response and mark it in your Answer Sheet. Your total marks will depend on the number of correct responses
marked by you in the Answer Sheet.

In the Answer Sheet, there are Five circles—@ , ,@ ,@ and @ against each question. To answer the
questions, you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle of your choice for each
question. Select only one response for each question and mark it in your Answer Sheet. If you mark more than
one answer for one question, the answer will be treated as wrong. Use Black/Blue ink ballpoint pen only to
mark the answer in the Answer Sheet. Any erasure or change is not allowed.

If there is any sort of mistake either of printing or of factual nature, then out of English and Hindi versions of the
questions, the English version will be treated as standard.

You should not remove or tear off any sheet from the Question Booklet. You are not allowed to take this
Question Booklet and the Answer Sheet out of the Examination Hall during the examination. After the
examination has concluded, you must hand over your Answer Sheet to the Invigilator. Thereafter, you are
permitted to take away the Question Booklet with you.

Failure to comply with any of the above instructions will render you liable to such action or penalty as the
Commission may decide at their discretion.

Candidates must assure before leaving the Examination Hall that their Answer Sheets will be kept in Self
Adhesive LDPE Bag and completely packed/sealed in their presence.
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PART -1
(English Language)

Directions (Q. Nos. E-1 to E-5) Read the passage
given below and answer the questions that follow :

Amitabh Bachchan, popularly known as big B, was
born in Allahabad, Uttar Pradesh on 11 October 1942.
He is an iconic actor whose career in Indian Cinema
has spanned four decades. His father H.R. Bachchan
was a well-known Hindi poet. (Bachchan is actually
his father’s pen name but has now become the family
surname) Amitabh attended boys’ High School in
Allahabad, followed by Sherwood College in
Nainital and earned a degree in science from Delhi
university. His first film was ‘Saat Hindustani’ (1969).
He became well-known as a movie star in 1973
after the success of ‘ Abhimaan’ and ‘Zanjeer’ which
was followed by his box office successes such as
‘Sholay’ ‘Amar Akbar Anthony’, ‘Trishul’, ‘Don’
and “Deewar’. He often played the role of an angry
young man fighting a corrupt establishment, a theme
that had tremendous appeal in India at that time.

E-1. Which city is the birth place of Amitabh in

India?
(A) Bombay
(B) Delhi

(C) Bangalore
(D) More than one of the above
(E) None of the above

E-2. How long has Amitabh Bachchan dominated
Indian Cinema?
(A) Threedecades
(B) Four decades
(C) Twodecades
(D) More than one of the above
(E) None of'the above

E-3. From which university did Amitabh earn his
degree in science?
(A) Aligarh Muslim University
(B) Banaras Hindu University
(C) Punjab University
(D) More than one of the above
(E) None of'the above
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E-4. When did Amitabh got recognition as amovie

star in India?
(A) 1966
(B) 1969
(C) 1973

(D) More than one of the above
(E) None ofthe above

E-5. Which film of the following is Amitabh’s first

film?
(A) ‘Zanjeer’
(B) ‘Abhiman’

(C) ‘SaatHindustani’
(D) More than one of the above
(E) None ofthe above

Directions (Q. Nos. E-6 and E-7) : Fill in the blanks
with suitable articles like ‘a’ ‘an’ ‘the’ :

E-6. The shadow of moon fills on Earth.
(A) an
B) a
(C) the
(D) More than one of the above
(E) None ofthe above

E-7. 1have always wanted to study abroad, not
only for  degree but also for the
experience.

(A) an

B) a

(C) the

(D) More than one of the above
(E) None ofthe above

E-8. First May 2024 is Wednesday, what day of
the week would be 9" of May?

(A) Friday
(B) Thursday
(C) Monday

(D) More than one of the above
(E) None ofthe above
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{DBF E-1}
{DBF E-2}
{DBF E-3}
{DBF E-4}
{DBF E-5}
{DBF E-6}
{DBF E-7}
{DBF E-8}

(Hindi Language)

(%)

FreferReam ettt st ugeR W2 o avHl % 3R @i -

ufea T yEe fafee 37 wem wifdeiE | 9 us
A, T 7o i § 3t g ot feen faan ol s
T TETE 3ATH AT o HUeh H 3T, Tk Siter W shifd 31
T3, 3TH JAEAT 1 AT T T AEE T 3a1| 34 fE=
T SR TR TR 21| T TETE 3R Ul et fh shifcrentdl
ok 331 H TR § qe 39 i wesan & forg | fred @
TR 2| fafare swifaerl |@iea & e @ o1 0| 3 Uk
gk i foredi- ‘ol it T S et e’ g
TN AW GEH qgd Wrog 2l FEeH | e
S Tk agd TS wHeE oft| 9 e o foTg g Rt
E—E Rl T T, afeeh SIS o1 TR T e
A S| 3egiH 9 3R, 1925 Sl ikl RIH W
& TR T T A oRT fn| ek forg e e
AT AT | 3 el St B G | uea e 26-27
T <t 311g W org Sl o T, S et oy S et o
TE T U A Tk A 9, 3R A el aeE—aua W
TH IO A E

TR S A e g fem | R)

T g TR fera g T-smfaer W 1

H-9. T YETE % SiaA | URad= el ST ?
(A) hifcreRTREn o HUeh | TR W
(B) < Srmdient St T et
(C) @9 3 A & HUeh | 310
(D) S9g U A TH A st
(E) Swgwd @ &

H-10.fafE 3 e H o S8 g 6l ?
(A) AR EHAA TER
(B) i1 3ehesl ek
(C) vl =l Tfe
(D) Sud U UF § AR
(B) Sugwh & @ =g T&

12/MAV/M-2024-10/S-310-E

H-11. i wgm shifcentdl il hgetie ?
(A) =it 37 Wi R a G )
(B) =it 3 gk fort|
(C) =iifeR S 310 el & ST g
feen foam
(D) Swdvs i & U @ sl
(E) Sugwhd g Td

H-12.9<FT A e Mg B :
A) ==
®) wm
© =
(D) SudwH A UE A Afw
(B) SwwAaRETE

H-13. waeran wise ot faeim 2
(A) T
(B) ke
(C) e
(D) SudwH A UE A Afw
(B) SwwHaRETE

H-14. el 3117 SR aren” e & foe v wsg @ -
(A) vy
(B) g
(€) sy
(D) SudwH A UE A Afw
(B) SwwHaRETE
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{DBF H-9}
{DBF H-10}
{DBF H-11}
{DBF H-12}
{DBF H-13}
{DBF H-14}

(@)

AT 1 (G HER 6 Die—a TUTEt iR uerelt §
g WA TN 3| W gEfere TR Wy et gfgum o
THETATI T TToft | 270 ol o ot W € g =i =g
TR g SR g 3701 36 TR g Uiy e v, e 3R
gfers 81 & AU AT % EEIRE o o dqae
TG 1A 24 (20| 31 Tl Shl SR SR |ET SieH,
3= ferIR’ SRl AHE-Siia <hl TeTdl <l WGt AT =0 2|
Tt 7S o U | e, afeeh 6k I gra-uE,
Teram Tren e & &1 | 2R =ieu| I8t atereh |t
2, I foramit it off S TRt T SRR <Rt safa oii foreem
T HROT TG g| TER 1 3T 8 o1 i TTaTE ¢ R
RN A § e gEe Sfth & I @ 3 TR I
St iR e 1 g 9w e o @ 2| HEe g, Ha
R, & Tk, HTHT TieR, SF. N, fomen wa
JATfe T T2 o Teel THI0T 3|
H-15.7753 1 SiieH 918 o= 711 A1 8 ?

(A) iR ag T 2

(B) aHifeh a2 igH™ 3R TheuAmfier 8

(C) wifer org ufterdt SR waR 2

(D) 3I9gH T A TH | Afw

(E) sudwdaweTd

H-16.357 %t 3 fore v 3 Frem 3 2 =nfee?
(A) 33, 3™ 3R st
(B) sgfER
(C) wrR-wEd T
(D) SudwwH A Tk A Afrw
(E) Sugwhd @ 7@

H-17. e At rn g ?
(A) Srenfies iR SRS
(B) = v
(C) wg== femmn
(D) SUgHH A Tw A 3w
(E) <wdeh & i T
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H-18. 3afd’ e <1 3a e oree 2 ¢
(A) vk
(B) et
(C) et
(D) SudHH A TF @ AR
(B) Sudvhd | s T

H-19. 7@ g S 3TeHT hIEAE R
(A) wHuRE T
B) crEEHHE T
(C) wgETau™
(D) SudHH W TF @ AR
(B) Swgmua®ETE

H-20. ‘T’ 713 o1 Tl aui-fasde g -
(A) 9+3+3N+q+A+J+TU+F
B) T+I+A+TA+A+IT+TU+FH+ A
C) T+{T+A+TA+IT+T+F+ A
(D) o & A v & aifrw
(B) SHEwHAARETE

H-21.Fr=ffea 4 @ afg w@fa = seewr @ -
(A) Temew
(B) fw
(C) Rt
(D) SUgHH A Tw A 3w
(B) <wdeh o & g T

H-22. Freferfion & & yg ad -
(A)  efigfa
B)  sfgda
(©) g
(D) Sudes & @ il
(B) o @ T
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{DBF H-15}
{DBF H-16}
{DBF H-17}
{DBF H-18}
{DBF H-19}
{DBF H-20}
{DBF H-21}
{DBF H-22}

H-23. FraferRaa # | sforarers @ @ - H-27. ‘Foomdur 91eg # A -H a0 8 2

A) =@ (A)  sErETE
B) wH (B) wHuRa
©) = (C) =@
(D) SudhH A UH A i (D) SudwhH A U A e
(E) Sugwhd @i 7@ (E) Sugwhd @ T&
H-24. <igan w waiari g - H-28.Frferfem aerriv 3 forg uer vieg =gt —
(A) wRw ‘T AT
(B) @mn (A) T
(C) e B) ==
(D) T & v & arferw (€) Frewrd
(E) Sugws A 7@ (D) S ¥ A Tw A it
(B) <wdeh & g T

H-25. R s foem s 2 -
H-29. ‘3griiF 8 9’ & fote wEt gera @ -

() = (A)  sitd go

®) st (B) si@iH e

(© Fm (©) sditma

(D) 3o 7 e D) Todw a4 o s

(®) semanme ) wmiamin
H-26. F us sliex gu @ € - # fgwor oreg 2 - H-30, ‘Frower § soa 3 -

(A) @ A f

B) wHeR ®)

<€ = (C) fm

(D) g d A T 4 aifern (D) Tugh i A U & aifern

(B) <wdeh o & i T (B) Sudvhd &g 7@

OF)
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{DBF H-23}
{DBF H-24}
{DBF H-25}
{DBF H-26}
{DBF H-27}
{DBF H-28}
{DBF H-29}
{DBF H-30}

(Urdu Language)

e PV L U2 U

PV AL I d il 193865240y /’ffuuc”

/'.‘i‘"”’ (A) dy,»_gumd”jyrtm G- Lu/u”; LT FJ!
Falels  (B) el A bl e I e L U e (s
;’1«?/5'_‘917 () itk ;/wwcucz_m‘é/f/béjubfﬁg

e L Jilie” (D)

LU’JZUJJ?'//G&Lf‘d//ﬂu"/éjl///}’/uw)
oSy Ut /-mL/u Gl by Jelust 215

Uil (B) L.Cfmu* £1953-0 f“’u‘» 2 =3y d‘.L/Jf/K
it BES Ll LT ey Kb & U P bl
e AT bbb U-13 *‘"'/""“’)‘f(”’ﬁd’g'ﬁ'i”'d""d’zr'”"’“ﬂu:/'

. &t
SeT (A '
" e Ui F U- 94 22 i
Suvis? @) L el F U-14U-9.s ﬁ/?cufi/u’w s
_gdll“»d/at'ﬁu»
fé ©
¢s | JU-
S vt (B 2 /» (B)
/{d]lﬁ ©
o oo . F2 /’. h.va ~UL\-4-) D
3ol B0, 1953 .U-14 Mieflelles (D)
U= Ul (B)
BTN
S AL TE JU-10
J (B ‘ P
- S
Jes o (O % (B)
Mo Lle il (D) PV (®
o = ugc S (D)
o (U2 UL S G B UL
Led 1941 29150 g £ AUl Glisr e Sy by
L P e Sk - wlde ()
L e LGt (B
V41999608 Ly e e i P U35 e Uit & i@” EC;
. I . A2
WY VTN DRy oY e Le il (D)
Sl e & e D 2L g €1 U21964 S e (®)

;6
12/MAV/M-2024-10/S-310-E 6 %



fe ptbe AL Sl i
6 (A)
Ji ®)

/5 (©
e L Jitye” (D)
St ®

W6 b t1998
EYTAIE SRS ATV (A)
UG $Ee  (B)

a8 a (C)
e L Jitye” (D)
e e ®

?+du/f~QJJ'J/w(W
SLENCY
FEts (B
~1d.d (©

e L Jilie” (D)
S s (B

u'ujj/":”;ul.l)vd{f}iéu% Ju;)b";ic;
e tb Uy

T (A)

58 (B)

-7 (0O

e L Jilye” (D)
St ®

S bl 1Ly JE S22 5
sl (A)

sl (B)

Jaerls  (C)

e Ll Jilie> (D)
S S (®)

12/MAV/M-2024-10/S-310-E

.U-18

.U-19

.U-20

U-21

U-22

Z 12001 gl Us=Ei11967 2:7(1977)
@ 0 o K UIBIL U S gt & oL AU
Uz 2 S bl P D 1988
K581 3L U 19888 B UL 195506 Gax S~
L yend U= h2004- s bl 25

e pISK1 LU

ez L v CF U-20 = U-15/2% S UG I, 2

vt

?u;(f’uww@(w .U-15

£z
Ju#
= ugc Sl

(A)
(B)
©
(D)
(E)

2wl U0l U-16

J %

i
= wgé Sl

(A)
(B)
©
(D)
(E)

oL La?um»f’ U-17

Il

/:)le@w

drsfes >
e

ﬂﬂﬁff—w”@%

e

(A)
(B)
©
(D)
(E)

[P.T.O.



S Y bbb CNET U27 e BT U3

e (A) (A
wbt (B tv  (B)
e (©) b (©

e L Jilie” (D)

% e L Jitye” (D)
Uil (B)

St ®

?q/wtfﬁd/_,tzw/)‘}ff 7 U-28

s . ?Kng@wtq;!/"‘(‘f” JU-24
For @

0.4, A
c«)b;’/ (B) )f )
el
921% © 4 ®)
g1 (©)

e L Jitye” (D)
e vies ®) M fe fihr> (D)
L/:‘} é/c Sl (E)

-éd‘j ll‘»’d/é‘i M/Juﬁgj:;',?/) .U-29

BRI (A e JEUhUsnty U-25
G LE,  (B) rE (A
FEIEn Ll (C) F®
SieLe Sl (D) 5 ©
U= dtihes (B) e Ll il (D)

St ®
_EE GBS e S o U-30

SIS ()
cluvie s B
GUETULed (O

e L Jilie” (D) 0
St ® = ©
e L Jitye” (D)

St ®

?‘wafutzﬁw“gywﬁut” U-26
S aire2? (A)
Grut®  (B)

ELE
12/MAV/M-2024-10/S-310-E 8 %



(Bengali Language)

B-9. “G” Ffa— B-14.“gfi” s&amfoa Sesfe—
(A)  SCAT JHoy wRiae Ffe A) o W (A
(B) ST Ol T B ot
(C) T oy wrmae i o
(D) ToAreeli| T G (AT TiEE (C) “Iam” * (AT
(B) TR @IADE 7 (D) THEESHE T G (ATE

(E) $oitad @aifog o
B-10.=705 > A5 —98 RS ae 2ien-

(A) AT T[S
(B) Rafeare wrwsfo B-15.“SEIRIE AR AT —9A “AeR”
C) fiza sr@afe faiomis —
(D) THAEl™ Ty G (AF TS (A) w5 =
(B) ToFT @ICE B) i fo
B-11.“Fl5/e” = {6— (C) fasiss famnl
(A) SRR == (D) Tl T G (AF KT
(B) T = (E) Toltad (@Ienfoz o

(C) ool ===
(D) TAeelE N G (AT T

B-16.5» A 7[<9-A6< 70—
(E) Toitad @Iz«

(A) Tooy

B-12.“91” € “on” *% wfors Awwwm IACE (B) ARz

[ (C) «=afs

g;)) ZT;]_ (D) SRS N0 G (AT AP

©) R (E) ©oiza @Iaifg o

(D) TotAEl™ T G (AT LS

(B) T©oltad (A o B-17. “SISHRIE” I 2Mibe R 2Ea—
B-13.“S[@ F!” & TM— (A) S <

(A) T TSP (B) Ik WS cAfe T

(B) FAET TS (C) <M el A

(C) SIRRIEE TS (D) TritaE s T G (A RS

(D) TotAE™ T G (AT LS

- - (E) Toitza @il =
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B-18.“ + 9F-IRF — QT HoREE “ATF

*AHre FAF (@-AfGTe o7 OIcF &
w_

A) @9

®) =

(C) =R

(D) TAEEHR T GFF (AF TS
(B) Toaa @Ieafg wm

“BF (TF @ SREAT AN (AT | GRR
SR ARG TR (5P AR ATl
G (MAIF AfRe #IfFeR 27 | (6P MR,
oAk O [RAR-ANCAICR 7w (MF-(rdl
ffge 233 aEfrrer oifigs 2w
MR AN TR 9 ] SZe
= ST TR KAV ToifFe SR
A GF OGS (S I | Tl G0l
FFCHA, @ FCA AP, O Q@ TR
4o SRR, 93 FEFG] FA ol
(MR NIECA 0w e | 3 o
A wdie (R B@ <Y e,
7l SIfle AT 3R SRS, (2N
wiefie 7S, @3 ot 4y @3 T
faw fqaw <fox St wizal Fwl +i4te
AT AT W6 GolfFe 23re, @)
AR SCHIE T Jerg I F!
SRt 9 7w e faa sfkeemr

B-19.R31Z THATE (RART THAEe 29—

(A) TR

(B) (ATETE 9t

(©) em 9tz

D) THAERR T A (AF A
(E) THAER (AR T7
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B-20. SIE S0 (AR e 0ol e
(A) T IeRFEA =
(B) @ @
(C) (AT
D) THAGRER T A (AF A
(E) Toltaa (A2 o

B-21. ("R 2 T —
A) T
(B) Mt
©) &
(D) TSl WK G (AT SET
(B) T (ICAIDE 97

B-22.CT9F w1 fa f@am &cafest
(A) *H-zfo-mRel exy
(B) (AGHRAMIMA-TT Sy
(C) 2S-SICAMSI-(ABIE™ S
D) THAERER T A (AF A

(B) @ (D2 97

B-23. (¥ W4l [efta o sirefes—
(A) FWHF T
(B) foeprT Toig
(C) TR S T
(D) TSl WK G (AT SEST

(E) @ @ICAIDE a7

B-24.“Rarz-smigiw” #mic—
A) oM
B) ET™
(C) faF o™
D) THAGRER T A (AF A
(E) Tolzm @IiDe

[=];¢ =]
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T =R o Ny @-owiEs Wy,
OIZ (T ALY ICECR I 4 |
wes 0% @3 TAhl FAT I Yo 4
SRR T (i @one: fenfes
R L S M T e K e SO
foexfe @-7e7 oohTl ©F 1, OIS A
AR RS € FRIge I dFfed 7ol
AefeEs FF | A ATIgS
Sretew-FIfEaT Yo @2 [ e
e g e 7 hedfen ==
TR A iefes G2 FAFHEABIE IqTaL
@Az pUEed e Faa
JweTeld fon for Somaets sidlfe e
Y (Of 281 SAl%erolios el ©iF b EE
A e =ifis 203 B foenifen anefa |
TIEAG 7 (ATF BF IF(F IAHALT TS
aapfacg reifen @3 aANeFR Terared
e coltc | voE-a wisEl, foq H-w
el ¢ Al g3R “IE” SR eIl
AR M 98 ISt qie weAl ACAEH |
wfoal AT Ole T FE AT
TR, A AR 2 ey =9 A1, [grew
el | i), el o emifiE AEicele
@12 SiFe-wte WY Ruglke | FIkibres
93 WA IAHNCLT FRSET AL @
“TWgLF Q@Y “Aferey” (AT LT
B WA I

B-25.“Taa 43 I6700 I (@ITAHT—

(A) F-sjFEEE [Were wifes A
B) FRF bedfe ¢ damiers

(C) AR-7Faa fufere i AMBs
(D) Coitaieeflm Mt G (AT ST

(E) $oitaa @eaifog o
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B-26.~[71Ce Sroes-SifEfa Yo @-feefH
eFiier—
(A) =7 fredfers Ik “[ifere Fa0z
(B) “F(A At Ml 2[ifere IR
(C) =97 exfe fEre AR
(D) AR MK G (A LT

(E) Toitaa @il =

B-27.“bexf&” “miba (PRI —
(A) Torex wfe
B) e w7l *fe
(C) T be o2 #f&
(D) CHARISRTR MK G (A LT
(B) To31 @IAIDE =1

B-28.5]19w%d 57@ @-a51 Mitz—
(A)  THTITA
B) ==
(C) (=BT sITs
(D) Coitaieeflm M G (AT ST
(E) Toizd @iaifog o

B-29. 3T FRORT “Ngd” @00 (@RI
BCR—
(A) T AeifEcs
(B) =T besfers
(C) =97 Fexfe ¢ aexfers
(D) Tt Mt G (AT ST

(E) Ttz @eaifog o

B-30.“=iferey” *wiba grevife famsmol—
(A) #fT® + 33
(B) @fere + T
(C) =rfere + 3
(D) AR MK G (A KT
(E) Toitza @il =
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PART - 11

(GENERAL STUDIES)

31. Aplayer makes 7 complete revolutions of a 4
circular path to complete a race of 2200 2 -
p complete : 35. Bywhatnumbershould | == | bedivided
metres. The radius of the circular path is : 3
= 2 . . 4 N
7 so that the quotient is 9 ?
(A) 42 metres
(B) 45 metres (A) 3
(C) 5S0metres
(D) More than one of the above B) - 2
(B) None of the above 3
3
32. [Ifthe capacity of a cylindrical tank is 1848 m* © - 9
and the diameter of its base is 14 m, the depth (D) More than one of the above
Cthe tank (7[ 22) (E) None ofthe above
of the tank 1s: =
7
1
(A) 8m 36. Ifx+;=5,whatisthevalueofx4+L4?
X
?é)) 12 E (A) 525
(B) 527
(D) More than one of the above (C) 529
(E) None of the above (D) More than one of the above
(E) None ofthe above
1 ) ) 37. Abagcontains 5-rupee, 2-rupee and 1-rupee
—th ?
33. I 8 ofa number is 30, what will be 62% of coins in theratio 2 : 3 : 4. The total value of all
that number? the coins is 32,000. How many coins of
(A) 1813 2-rupee are there in the bag?
(B) 178.24 (&) 300
(©) 1488 ?(3:)) 4(5)8
(D) More than one of the above (D) More than one of the above
(E) None ofthe above (E) None of the above
34. The salary of an officer is increased by 25%. 38. f[he inter.ior angleofa regujar polygon exce‘:eds
By what percent should the new salary be its exterior angle by 128 . How many sides
decreased to restore the original salary? does the polygon have?
A) 25 A) 10
B) 225 ?(3:)) g
©) 20 (D) More than one of the above
(D) More than one of the above (E) None of the above
(E) None ofthe above
(=] - [m]
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31.

32.

33.

34.

PART - 11

(GENERAL STUDIES)

T Reerdt foret Jamen™ Ut & 7 R e eI
2200 e 1 gre gt e 2| IRTeRR ue R e

o2

(A) 42w

(B) 45

(C) 50

(D) SUgH U A TH | A
(E) sudwAa=eTd

Tfe foreit SeTTeRR 3ok <t enftar 1848 Wi iR &k
YR &1 =@ 14 Wt 31, @t ok <hi TS gl

-3

(A) 8

B) 12%#

(C) 16w

(D) SUg U A TH | A
(E) sudwAa=mETd

T ferelt wtem w1 3treai Wit 30 2, 9 36 S @
62% feragmm?

(A) 1813

(B) 178.24

(C) 148.8

(D) SudhH A UH A i
(E) SugwuawETd

Tk SATEreRT oA S 25% gt fean S 31 & 9w
i feram afcreTa et foen s foh a1 g A W st
S ?

(A) 25

B) 225

(C) 20

(D) SUg U A TH | A

(B) Sudhd | g T
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36.

37.

38.

3
(‘%j N N N S

(8]

2
A) 3

2
® -3

3
© 5
(D) 39T A TH A HAfw
() wEdwAARETE

1
gfe x+—=5 4 x* +L4 HFRNAAR?
X

X
(A) 525
(B) 527
(C) 529
(D) SUgH U A TH | A
()

IUYH W A S TE

T 9 H 5-w 0, 2-F03 qen 1w & fss
2:3: 4% ouE | | it ot 1 o qea
22000 31 9t & 2% % fope Roras €2

(A) 200

B) 250

(C) 400

(D) SUgH U A TH | A

(B) Sudvhd | s T

T THAGHS i I: iUl Ik AfshiuT & 108°
atfereh 31 30 wgeret A foberit oyeTral €2

(A) 10

®) 9

<€ 8

(D) SUgH U A TH | A

(E) Sugwhd @ T&
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39.

40.

41.

42.

43.

Zinc Oxide is normally used in the
manufacture of

(A) Paints

(B) Explosives

(C) Solvents

(D) More than one of the above
(E) None ofthe above

Lenz’s law is derived from the law of
conservation of

(A) Magnetism

(B) Momentum

(C) Charge

(D) More than one of the above

(E) None ofthe above

Glycogen stored in liver and muscles of human
body is in form of

(A) Monosaccharide

(B) Polysaccharide

(C) Protein

(D) More than one of the above

(E) None ofthe above

In which of the following blood has defective
haemoglobin?

(A) Haematoma

(B) Sickle cell Anaecmia

(C) Haemophilia

(D) More than one of the above

None of the above

E)

In which of the following medicine production,
ethyl alcohol can be used?

(A) Antiseptic

(B) Antipyretic

(C) Anti-allergic

(D) More than one of the above
(E) None ofthe above
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44,

45.

46.

47.

48.

Velocity of sound at 15°C and 380mm
pressure is 340m. sec!. If the pressure is
doubled without change of temperature, the
velocity of sound would become

(A) 680m.sec!

(B) 170m.sec!

(C) 190m. sec

(D) 340m.sec!

(E) None ofthe above

If a bacterium cell divides in every 15 min,
how many bacteria will be formed in 2 hours.

A 8

®) lo

(C) o4

(D) 256

(E) None ofthe above

Plants and animal cell differ in which of the
following structure?

(A) Enzymes

(B) Nuclei

(C) Cellwall

(D) More than one of the above

None of the above

E)

According to the recent report of forbes,
which is the strongest currency in the world?

(A) OmaniRial

(B) Kuwaiti Dinar

(C) Bahrain Dinar

(D) More than one of the above
(E) None ofthe above

In which city of Maharashtra did PM
Narendra Modi launch 8 AMRUT projects?

(A) Kollam

(B) Baroda

(C) Solapur

(D) More than one of the above
(E) None ofthe above

[=];¢ =]
ek


{DBF 39}
{DBF 40}
{DBF 41}
{DBF 42}
{DBF 43}
{DBF 44}
{DBF 45}
{DBF 46}
{DBF 47}
{DBF 48}

39

40.

41.

42.

43.

ter sreraTEE = WMo wu A R & Saaea |
SUART gl

A) w=

(B) ferpesi

(C) dircTent

(D) Sudw # A TF W e

(B) Sudhd | i3 T

et 3 forem <Rt et o forg For o fomrss wieamon
fFrem @ M g2 ?

(A) F=&Ha

(B) @

(C) emEm

(D) 3ugeh # @ U A 3Aferw

(E) sudwAa=meTd

T TR 3 Tk U WiE UTITE # Henia Tegehisa
HEARATR

(A) wAEERTES

(B) uicierrge

(C) R

(D) Sudw H A TF W e

(B) Sudhd | i3 T

T 1 Ffequl grTeter e | fermd feman 22
(A) THIH

(B) 3 <hIfIreRt 3RHAT

(C) Arhfcrn

(D) 3udh WA T A Il

(E) Sugwhd @i T&

e o form weRR <Rt gas ScTeA | sUTEe Sehigel
T IR R ST HehaT 2 ?

(A) whaes

(B) wAuEies

(C) uwd-teriw

(D) Sudw # A TF W e
(E) Sugwhd @ 7@
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46.

47.

48.

15°C @ ua 380mm 3l W &af &t 340 W |, !
1 afg @ =it srafafia wed gu @ w @ T
e S e emf A s EE E

(A) 680A"

B) 170#@a!

(©) 190d 3!

(D) 340da"

(B) Sudhd | i3 T

Tfe Uk Sranfueres it Tk 15 fime o fawws
Fiell @ e 2 w2 U feme Sftenfueres ffda gt 2

A) 8

B) 16

(C) o4

(D) 256

(E) Sugwhd g Td

Yient ud uy] hifvreRtstt # atr e @ fora w9
YA E?

(A) tsTEm

(B) =i

(C) v firfa

(D) 39T A TH | HAfew

(E) SugwuawETE

WhIsH o1 Fiicra RUIE o STER gl hl Hard Heted
g HA-H 2 ?

(A) st feame

(B) FadR

(€) =ERER

(D) 39T A TH | HAfw

(E) STwEEEE T

iU, g WG A 8 ST URESHIST Sl Jead
e & fra s A e

(A) =gA

(B) =S

(C) TR

(D) 39T A TH A HAfw

(B) Sudhd | i3 T
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49.

50.

51.

52.

53.

IIT Madras has tied up with whom to launch
€ Mobility Simulation Lab?

(A) Altair

(B) Starlink

(C) Farber Speciality Lab

(D) More than one of the above
(E) None ofthe above

Who won the Best Actor Award at the
Academy Awards 2024 (Oscars)?

(A) Dwayne Johnson

(B) Cillian Murphy

(C) Tom Cruise

(D) More than one of the above
(E) None ofthe above

Who was recently selected as the ICC
Women’s T20i Cricketer of the year 2023?

(A) Smriti Mandhana (India)

(B) Nat Seiver - Brunt (England)
(C) Hayley Mathews (West Indies)
(D) More than one of the above
(E) None ofthe above

Who was Crowned Miss World 2024 in
Mumbai?

(A) Miss Czech Kristina Pishkova
(B) Miss India Sini Shetty

(C) Miss Lebanon Yasmina Zaytoun
(D) More than one of the above

(E) None ofthe above

In which country will the clean Energy Investor
Forum be organised by IPEF?

(A) France

(B) Singapore

(C) Spain

(D) More than one of the above
(E) None ofthe above

12/MAV/M-2024-10/S-310-E

16

54.

5S.

56.

57.

58.

59.

India has acquired the right to operate the
foreign Sittwe Port, it is in which country?

(A) SriLanka

(B) Bangladesh

(C) Myanmar

(D) More than one of the above
(E) None ofthe above
Mangrove forest of Ganga Delta is called
(A) Sunderban

(B) Sundergarh

(C) Surendranagar

(D) More than one of the above
(E) None ofthe above

Which river is frequently changing its course
of flow in Bihar

(A) Gandak

(B) Kosi

(C) Punpun

(D) More than one of the above
(E) None ofthe above

Plant roots gets water from soil as -
(A) Bound water

(B) Hygroscopic water

(C) Capillary water

(D) More than one of the above
(E) None ofthe above

How much equatorial diameter is larger than
polar diameter?

(A) 36km

(B) 43km

(C) 49km

(D) More than one of the above
(E) None ofthe above

The Indian Standard Time (IST) is taken at
which longitude -

(A) 82.5°E

(B) 78.5°E

(C) 87.5°E

(D) More than one of the above
(E) None ofthe above
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49.

50.

S1.

S52.

53.

HTEIER TET 3 § TRt Rmem e aa
A o foru forees T sm feren 2 2

(A) sEem

(B) wrfe®

(C) R W |

(D) 39T A TH A HAfw

(E) sudwAa=meTd

STERTEHY YRR 2024 (SiTehe) ® Tagrs stfeman
1 YRR fohem St ?

(A) TEATEEA

B) Faferam ot

(©) emgs

(D) SudH U A TF @ AR

(B) Sudhd | i3 T

ol e @ 1 2023 % o [CC wfgen T20i
foRoher o g R T T ?

(A) =i Huw ()

(B) e HEmR-3E (3US)

(C) T oS ()

(D) SudhH A UH A i

(E) wEdwAARETE

g W T e A 2024 s arst foeeh RR W
Sl?

(A) Tord = foredn foeenien

(B) fmstemfEhad

(C) o e i SEreTs

(D) SudwH W TH | AR

(E) SugwuawETd

TS O S Uk g1 A9 TS 3ot TR ot ST
fora Qo d foran SR ?

(A) wEd

(B) fmgrH

(C) wm#

(D) 39T A TH A HAfw

(E) IwdwHA®E T
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54.

5S.

56.

57.

58.

59.

ara 3 foeft fred sewmg W wwnfera w4 @
arferenr it feren 3, o fepm e e 22

(A)  shemd

(B) aremewH

(C) wmrd

(D) 3udhH A UF A i

(E) sudwAa=mETd

T 22T & TSTETE 5 81 Tl I g 8 ?
A) g=&

B) TTw©

(C) g

(D) U U W TF A Al

(E) SugwuawETd

R B FA-Th 7S sraen A uRterfda @@ & ferg
S SR g ?

(A) ==

(B) =

(©) g

(D) sudwH A us A frn

(E) SugwuawETd

21 I TS 1 e A U A e g 2
(A) s

B) AT

(C) whmEmwe

(D) 3SUdhH A TE A Afrew

(E) sudwAa=mETd

forgarita s gt = @ feramn afersr 2 2
(A) 36 .

(B) 43 ft.

(C) 49 ft.

(D) SudhH A UH A i

(E) Sugwhd @ T&

o 9 W WA AR S0 SO A1 g ?
(A) 82.5°gd (East)

(B) 78.5°ud

(C) 87.5°ud

(D) 3udhH A UH A i

(E) SugwuawETd
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60. InIndia ‘Greenrevolution’ is known to credit 66.
to whom?
(A) Dr. V.Kurian
(B) Dr. M.S. Swaminathan
(C) Sri. S.L. Bahuguna
(D) More than one of the above
(E) None ofthe above
61. Highest Mountain peak of India is known as
(A) Everest 67.
(B) Kanchenjunga
(C) K-2
(D) More than one of the above
(E) None ofthe above
62. Indian continent was earlier part of
(A) Gondwanaland
(B) Tethys 68.
(C) Pangea
(D) More than one of the above
(E) None ofthe above
63. Who led the Revolt of 1857 in Bihar?
(A) TatyaTope
(B) Kunwar Singh
(C) Nana Saheb 69.
(D) More than one of the above
(E) None ofthe above
64. The spiritual side of nationalism was voiced
by
(A) RajaRam Mohan Roy
(B) Swami Shraddhanand
(C) Swami Vivekananda
(D) More than one of the above
(E) None ofthe above
70.
65. Which newspaper propagated strong
nationalist views during India’s freedom
struggle?
(A) Pioneer
(B) Amrit Bazar Patrika
(C) Statesman
(D) More than one of the above
(E) None ofthe above
12/MAV/M-2024-10/S-310-E 18

Who intervened in a dispute between the
workers and mill owners of Ahmedabad in
1918?

(A) Vallabhbhai Patel

(B) Mahatma Gandhi

(C) Jamshedji Tata

(D) More than one of the above

(E) None ofthe above

Name the left-wing leader of Bihar Provincial
Kisan Sabha who popularised this in Bihar?
(A) Karyanand Sharma

(B) WadhwaRam

(C) P.C.Joshi

(D) More than one of the above

(E) None ofthe above

Muddiman Committee was appointed to
report on the working of the

(A) Dyarchy

(B) Communal representation

(C) Federalism

(D) More than one of the above

(E) None ofthe above

“He was a great unifier in India who taught
us not only bare tolerance of others but the
willing acceptance of them as our friends and
comrades in common undertakings” who
said it?

(A) Subhash Chandra Bose

(B) Balgangadhar Tilak

(C) Rajendra Prasad

(D) More than one of the above

(E) None ofthe above

Who proceeded to organise the Provisional
Government of Free India outside the
country?

(A) RajaMahendra Pratap

(B) Rash Behari Bose

(C) Subhash Chandra Bose

(D) More than one of the above

(E) None ofthe above
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60.

61.

62.

63.

64.

65.

A | ‘gha shife’ ot 9 TRl ST 2 2
(A) & e

(B) @i vA.tq. @rieA

(C) it gregeTer Tgon

(D) SUgH U A TH | A

(E) Swgmua®ETd

I T St e St e -
(A) TR=

(B)

C) *-2

(D) SUgHH A TH | A
(B) Sudvhd | s T

W SUHETEIY Y | HeTd: Ush HHT o1 —
(A) TUEaETHvE

(B) @

(C) R

(D) SUgH U A TH | A

(B) Sudvhd | s T

fagrd 1857 i swif<a =1 forma Sgea e en?
(A) dEeEney

(B) I

(C) ararE

(D) SUdH A Tw A 3w

(B) Sudvhd | s T

Tyare $i snefares faun fFa & gr SewlE
AT T ?

(A) T AR T

(B) @ orgH=

(C) vand feemma<

(D) SUgH U A TH | A

(B) <wdeh & i T

R < T TSI h SR g T feremm
o TR THTRIR - Ot <R gRT ST feren T ST e ?
(A) wERER

(B)  om TSI ufet

(C) wemim

(D) SUgH U A TH | A

(B) <wdeh o & i T
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66.

67.

68.

69.

70.

1918 © s1gwgmaTg o et —wiictent 3R gl &
we forane # foraa geagia fram an e

(A) g uee

(B) werem R

(C) <wiEst et

(D) SUgH U A TH | A

(E) Swgwmua®ETE

forgr o form am—veht wan A fagr w=ia feram
[T T ARSI T AT AW T

(A) A= ymi

(B) =EETI™

(C) .= <

(D) SUgH U A TH | A

(B) Sudvhd | s T

T i R R wrRTuTTen W R A
foru s fepam an

(A) ga-voTed

(B) wmErs gt

(C) wuam

(D) SUgH U A TH | A

(E) Sugwhd @ T&

‘WA H oIg g skl el o1 Rre ket g
Tfgey & T8 =T 3tfug e 31 Tt aiv wnfer
T ot et o T ot wienr e e’ 9
fr e

(A) guNEgEE

(B) srewimeR foeren

(C) TZYER

(D) SUgH U A TH | A

(E) Sugwhd @ T&

91 ok T WA= A <hl 3TEATS TR hl TS
A H B AW TG1?

(A) T UEg YA

B) v fEdaa

(C) gwmwgaH

(D) SUgH U A TH | A

(E) Sugwhd @ T&
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H-1.

H-2.

H-S.

PART - III
(HISTORY)

In which phase of History the Harappan
Civilization can be kept?

(A) Pre-History

(B) Proto - History

(C) History

(D) More than one of the above

(E) None of'the above

At which river bank the Indus Valley site
Sutkagendor is situated?

(A) Ravi
(B) Jhelum
(C) Dashak

(D) More than one of the above
(E) None of the above

In which state of India ‘Hulas’ the Indus

Valley site is situated?
(A) Haryana

(B) Rajasthan

(C) Gujarat

(D) More than one of the above
(E) None of the above

From which name Chandragupta Maurya
has been described in Greece literature?

(A) Antigonus

(B) Antiochus

(C) Sandrocottus

(D) More than one of the above
(E) None ofthe above

Which Greece writer has described that
Ariyana State was given to Chandragupta

Maurya in the marriage?
(A) Strabo
(B) Justin

(C) Plutarch
(D) More than one of the above
(E) None ofthe above
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Who has the credit to initiate Ashoka in
Buddhism?

(A) Nigrodh

(B)  Upagupta

(C) Moggaliputta Tissa

(D) More than one of the above

(E) None ofthe above

In which year of his reign Ashoka visited
Bodh Gaya?

( A) Qth
(B) 9th
(C) 10®

(D) More than one of the above
(E) None of'the above

In which Minor Rock Edict, Ashoka
expressed his beliefin Triratna-Buddha,

Dhamma and Sangha?
(A) Bhabru

(B) Gurjara

(C) Maski

(D) More than one of the above
(E) None ofthe above

In Mauryan Administration, how many
villages come under ‘Sangrahan’?

(A) 100

®B) 50

©) 10

(D) More than one of the above
(E) None of the above

How many types of spy are mentioned in

Kautilya’s Arthashastra?
A 2
B 3
© 4

(D) More than one of the above
(E) None of the above
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H-1.

H-2.

H-3.

H-4.

H-S.

PART - III
(HISTORY)

FEu W <k R sforgfies =ron o war =
TehAT S ?

(A) wrh-fie™

(B) e gidem

(C) sivem

(D) Iudwhd & U A ifrn

(E)  Sudeh o & g

firey T TN, GERTTER A T % GER W
femg?

A) @

(B) zem

(C) =

(D) U H | UF W Al

(E) Iodeh o & IS

fay ardt Toe g’ wra & few e H
femg?

(A) gRamm

(B) UsrEm

(C) TeR@

(D) Sugh U | T & ik

(B) udehd@wE @

TR wfe # S wied e o o @
R g?

(A) v

(B) ueAwRE

(C) wgrhiea

(D) S H A TH A 31w

(E) 3odeh o & IS T

foren Tt s = g 2 o e s <R
1 <! ferame | femn e on e

(A) ¥

(B) wifeA

(C) wwh

(D) 39U A TH A Al

(B) SugwAawE T
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H-6.

H-7.

H-8.

H-10.

9T I g o | ifera & ot s frar 2 e
(A) T

B) o
(©) g frem
(D) T & o & e

(E)  3uden & = T

JATTRT = 37U ITEH o fohE o8 | aer T <ht
IEN R ?

(A) 83

B) 94

(C) 104

(D) 3ugwhH | U A Aferh

(B) SugwAawE T

forer g foremve # arvive % -7, e
Fir wa § 1o fervema wehe fren 2 ?

(A) g

(B) T

C) we

(D) ST H A TH A 31w

(E) 3ugwh @

Hid g9 | w00t & S foRaa ita s
o

(A) 100

B) 50

©) 10

(D) SUgwH A TH Y Afeew

(E)  Suden o & g T

SHifeeagha HIME | foh TR 3 THERI
FUAR?
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H-11. Who was responsible to do examine of
coins during Mauryan period?
(A) Laxanaadhyaksha
(B) Sannidhata
(C) Rupadarshaka
(D) More than one of the above
(E) None of the above
H-12.  From which Hindi month the financial year
of the Mauryan administration started?
(A) Chaitram
(B) Ashadam
(C) Pushyami
(D) More than one of the above
(E) None ofthe above
H-13.  Who constructed some Guha-Vihars at
Nagarjuni hills during Mauryan age?
(A) Ashoka
(B) Dashrath
(C) Sampriti
(D) More than one of the above
(E) None of'the above
H-14. Who wrote Aihole Inscription which
describes about the conflict of Harsha and
Pulakeshin - IT?
(A) Ravikirti
(B) Vatsabhatti
(C) Vasul
(D) More than one of the above
(E) None of'the above
H-15. Who was the commander in chief of
Harshavardhan, that encouraged him to get
throne?
(A) Sharabhketu
(B) Singhnad
(C) Hansbeg
(D) More than one of the above
(E) None of'the above
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H-16.

H-17.

H-18.

H-19.

H-20.

According to Chinese writer in which year
Harsha Adopted the title of Magadhraj’?

(A) 640
(B) 641
(C) 642
(D) More than one of the above

(E) None ofthe above

According to Huen-Tsang at which place
in Bihar Harsha built a monastry (vihar)
of Copper?

(A) BodhGaya

(B)  Rajgir

(C) Nalanda

(D) More than one of the above

(E) None ofthe above

How many months Huen-Tsang stayed and
studied at Nalanda?

(A) 14
B) 18
(©) 28
(D) More than one of the above

(E) None of'the above

Who was the founder of Nalanda
University in the Gupta Period?

(A) Chandragupta Vikramaditya
(B) Samudra Gupta

(C) Ram Gupta

(D) More than one of the above

(E) None of'the above

Which Chola ruler defeated Sri Lanka
ruler Mahindra V on his land for the first
time?

(A) Rajarajal

(B) Rajarajall
(C) Rajendrall
(D) More than one of the above

(E) None ofthe above
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H-21.

H-22.

H-23.

H-24.

H-25.

Which Chola ruler established a new
capital city named ‘Gangaikonda
Cholapuram’?

(A) Parantaka-I

(B) Rajaraja-I

(C) Rajendra-I

(D) More than one of the above
(E) None ofthe above

Which Chola ruler constructed
‘Rajarajeshwar temple’ in his capital?

(A) Rajendral

(B) Rajarajal

(C) Kulottungal

(D) More than one of the above
(E) None of the above

Which Chola ruler is described as ‘Chola
Narayan’ in the contemporary writings?

(A) Rajendral

(B) Rajadhirajal

(C) Rajarajal

(D) More than one of the above
(E) None of the above

Atwhich place Iltutmish was appointed as
governor for the first time?

(A) Sambhal

(B) Badaun

(C) Gwalior

(D) More than one of the above
(E) None ofthe above

At which place Iltutmish gave crushing
defeat to Tajuddin Yalduz of Ghazni and
imprisoned him?

(A) Tarain

(B) Attheriver bank of Chenab
(C) Sindh

(D) More than one of the above
(E) None ofthe above
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H-26.

H-27.

H-28.

H-29.

H-30.

How much Qutubuddin Aibak had to pay
for purchasing of Tltutmish?

(A) Three Lakh Jitals

(B) Two Lakh Jitals

(C) One Lakh Jitals

(D) More than one of the above
(E) None of the above

In which year Iltutmish got recognition
from the Caliph of Baghdad?

(A) 1226

B) 1227

(©) 1229

(D) More than one of the above
(E) None of the above

Who constructed Quwwat-ul-Islam
Mosque at Delhi?

(A) Qutubuddin Aibak

(B) Iltutmish

(C) Balban

(D) More than one of the above
(E) None ofthe above

Which period is called the era of “the rule
of the Forty” in the history of Delhi

Sultanate age?
(A) 1236-42
(B) 1236-66
(C) 1236-46
(D) More than one of the above

None of the above

E)

Under which Sultan a new post ‘Naib-i-
mamlikat’ was created?

(A) Ruknuddin Firoz

(B) Muizuddin Bahram Shah
(C) Alauddin Masud Shah

(D) More than one of the above
(E) None ofthe above
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H-24.

H-25.
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H-28.
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H-30.
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H-31.

H-32.

H-33.

H-34.

H-35.

Who became the first ‘Naib-i-mamlikat’
in the history of Delhi Sultanate period?

(A) Malik Junaidi

(B)  Ghiyasuddin Balban

(C) Ikhtiyaruddin Aitigin

(D) More than one of the above
(E) None ofthe above

‘What was the original name of Ghiyasuddin
Balban?

(A) Badruddin

(B) Bahauddin

(C) Shamsuddin

(D) More than one of the above
(E) None ofthe above

By whom Balban was replaced on the post
of ‘Naib-i-mamlikati?

(A) KishluKhan

(B) Imaduddin Raihan

(C) Haibat Khan

(D) More than one of the above
(E) None of'the above

What Balban inscribed on his coins to
make obedience of co-religionist?

(A) Nasir-Amir-ul-Momenin
(B) Naib-i-Momenin

(C)  Amir-ul-Momenin

(D) More than one of the above
(E) None of'the above

Who was the last ruler of Mamluk (slave)
dynasty?

(A) Kaimurs

(B) BughraKhan

(C) Kaiqubad

(D) More than one of the above
(E) None of the above
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H-37.

H-38.

H-39.

H-40.
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At the court of which Rajput ruler Akbar
was born?

(A) RanaSangram Singh

(B) Rana Virsal

(C) RajaBikramajit

(D) More than one of the above

(E) None ofthe above

At which place Akbar was crowned?
(A) Thatta

(B) Panipat

(C) Kalanaur

(D) More than one of the above
(E) None of the above

Which was the last conquest of Akbar?
(A) Gujarat

(B) Sindh

(C) Asirgarh

(D) More than one of the above
(E) None of the above

In which year Akbar declared ‘Mahzar’?
(A) 1563

(B) 1575

(©) 1579

(D) More than one of the above

(E) None of'the above

At which place Akbar built ‘Buland
Darwaza’?

(A) Delhi

(B) Bulandshahr

(C) Ajmer

(D) More than one of the above
(E) None of the above
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H-31.

H-32.

H-33.

H-34.

H-35.
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G-2.

G-3.

PART - 111

(GEOGRAPHY)
G-5.

What percentage of the area does India
occupy of the land hemisphere?

(A) 2.9 percent

(B) 2.4 percent

(C) 3.0percent

(D) More than one of the above
(E) None ofthe above

The length of the coastline along the main

land of India is

(A) 6100 km
(B) 7516 km
(C) 5900 km

(D) More than one of the above
(E) None ofthe above

Indira Point is characterised by
(A) Itisnotvisible today

(B) Itis situated in the great Nicobar
group of Islands

(C) This is the southern most point of
India

(D) More than one of the above

(E) None ofthe above

In which of the following states are situated
Garo, Khasi and Jaintia hills situated?

(A) Manipur

(B) Mizoram

(C) Meghalaya

(D) More than one of the above
(E) None ofthe above
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G-7.

G-8.

Which of the following rivers flow through
antecedent valleys?

(A) Sutlej & Indus

(B) Damodar & Godavari

(C) Tungabhadra & Chambal

(D) More than one of the above

(E) None ofthe above

According to National Environmental
Engineering Research Institute (NEERI),
Nagpur how much water available in India
is polluted?

(A) 90 percent

(B) 60 percent

(C) 70percent

(D) More than one of the above

(E) None ofthe above

Which of the following sequences of rivers
in descending order of their respective
basin area in India is correct?

(A) Ganga, Indus, Godavari, Krishna
(B) Indus, Ganga, Krishna, Godavari
(C) Godavari, Ganga, Indus, Krishna
(D) More than one of the above

(E) None ofthe above

Who among the following proposed in
1951 that mansoon is only the seasonal
migration of planetary winds and pressure
belts?

(A) Halley

(B)  Flohn

(C) Koteswaram

(D) More than one of the above

(E) None ofthe above
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(GEOGRAPHY)
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G-10.

G-11.

G-12.

Which of the following pairs of the states
& the percentage of their respective
geographical area covered with forest is
correctly matched (Year 2021)?

(A) Mizoram 74.53 percent

(B)  Arunachal Pradesh 89.33 percent
(C) Meghalaya 79.33 percent

(D) More than one of the above

(E) None ofthe above

Which of the following national parks
came in news because 20 Cheetas where
translocated there from Africa?

(A) Kuno

(B) Keoladeo

(C) Sariska

(D) More than one of the above

(E) None ofthe above

Which of the following sequences of states
in descending order of their population
density (2011) is correct?

(A) West Bengal, Bihar, Uttar Pradesh,
Kerala

(B) Bihar, West Bengal, Kerala, Uttar
Pradesh

(C) Bihar, Kerala, West Bengal, Uttar
Pradesh

(D) More than one of the above

(E) None ofthe above

Sex ratio (number of females per thousand
males) in India According to 2011 census is

(A) 949
(B) 957
(C) 943
(D) More than one of the above

(E) None ofthe above
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G-16.
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Sagarmatha is the regional name of which

of the mountain peaks?

(A) Kanchenjunga

(B) Makalu

(C) Everest

(D) More than one of the above

(E) None ofthe above

In Bhutan, how much land area is covered

with glaciers?

(A) about 3 percent
(B) about9 percent
(C) about 5 percent

More than one of the above

D)
(E) None ofthe above

Which is the main food crop produced in
Bhutan?

(A) wheat

(B) rice

(C) Dbajra

(D) More than one of the above

(E) None ofthe above

Sri Lanka is well endowed with

(A) ironore

(B) gold

(C) coal

(D) More than one of the above

(E) None ofthe above
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G-10.

G-11.

G-12.
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G-17.  The capital of Myanmar is G-21.
(A) Yagon
(B) Mandalay
(C) Naypyidaw
(D) More than one of the above
(E) None ofthe above
G-18. The birth rate (Per 1000 People) in
Bangladesh in Year 2022 was G-22.
(A) 17.067
B) 17.991
(C) 18.61
(D) More than one of the above
(E) None ofthe above
G-19. The Numbers of parallels of latitudes & G-23.
meridians of longitudes on the globe are
(A) 360
(B) 180
(C) infinite
(D) More than one of the above
(E) None ofthe above
G-20. Comparative scale is characterised by G-24.
(A) 1itisacombination of two or more
plain scales placed side by side
(B) each plain scale shows different
systems of measurement units
(C) allplainscales have common R.F.
(D) More than one of the above
(E) None ofthe above
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Bauxite is found in abundance in which of
the following districts of Bihar?

(A) Darbhanga

(B) Jamui

(C) Saran

(D) More than one of the above

(E) None ofthe above

Black cotton soils have developed
(A) by weathering of Deccan Lava
(B) by weathering of granite

©)
(D)
(E) None ofthe above

in forest areas of the Himalayas

More than one of the above

Which of the regions of India are badly
effected by erosion?

(A) Chambal Basin

(B) Southern slopes of the Siwaliks
(C) Chota Nagpur highland

(D) More than one of the above

(E) None ofthe above

Which of the following areas are known

for coffee production?

(A) Sone Basin

(B) Nilgiris

(C) Chhattisgarh

(D) More than one of the above

(E) None ofthe above
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G-17.

G-18.

G-19.

G-20.

TR <l T = g ?
(A) ==

(B) wiEet

(C) wadiar ()

(D) Sudw U ¥ Uk A e
(E) Sudw & s &

TR ¥ Ufd Uk g9R SAfwal W 2022 |
e ot

(A) 17.067

B) 17.991

(C) 18.61

(D) Sudw U ¥ Uk A e

(E)  Suden o & g &

TeATel U SARATYT WIS A STieR Wit it e
FME?
(A)
B)
©)
D)
(E)

360

180

I

Sud | | U W it
Iugh § A R T

TAHTHE WISk 2t fergtaamal &
(A) TE AN AT TA TIIh! H TR
B

Tedieh T ATueh o v genrga
I JUTIfeTEt <Rl 29I @

Tl TR HTUehi <1 Tagieh i TR B 8
s T d o
Iugh H A S T

(B)

(©)
(D)
(E)
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G-21.

G-22.

G-23.

G-24.

frateitaa 4 @ fogr & form et | atemee
ST AT H O AT g ?

(A)  =wm

B) v

(©) =

(D) I 3 9 o & aiftrw
() 3w & g T

T HUTH ST ATt ot HHTuT gan g —
(A)
B)
©)
(D)
(E)

TR T ok 31U & g
UATSE & UL & G
frem T a=i A

U | | U W e
Iueh H A G T

frferRaa # wra & A @ TSw gaT-erot &
Fh gy ?

(A) wawaRm
(B) frwenferes % sfamh aret
(C) Bl s= 4
(D) T & v A o
(E) Sudwh & g T&

Frefeiiaa ept 4 A R i@ (Fgar) I
* oS s g ?

(A) BRARE
(B) i

(C) g

(D) 3oger & A T & aifrw
(E) Sudwh & g T&
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G-25.

G-26.

G-27.

G-28.

Which of the following projects is situated

on the Krishna river?

(A) Mayurakshi

(B) Jawahar Sagar dam

(C) Nagarjun Sagar

(D) More than one of the above

)

None of the above

Which is the leading fish producer in India

(Year 2023)?

(A) Gujarat

(B) WestBengal

(C) AndhraPradesh

(D) More than one of the above

)

None of the above

Which is the largest producer of wheat in
India (January, 2024)?

(A)
(B)
©
(D)
E)

Punjab

Uttar Pradesh

Madhya Pradesh

More than one of the above

None of the above

Which is the largest manganese ore
producer in India (Year 2023)?

(A)
(B)
©
(D)
(E)

Madhya Pradesh
Mabharashtra

Odisha

More than one of the above

None of the above
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G-29.

G-30.

G-31.

G-32.

Which of the following is a group of

non-conventional energy resources?

(A)
(B)
©

(D)
(E)

natural gas, nuclear energy, coal
coal, natural gas, petroleum

solar energy, wind energy,
geothermal energy

More than one of the above

None of the above

Which of the following pairs of petroleum
fields and the state of their locations are

correct?

(A) Hugrijan oil field -------- Assam
(B) Kalol oil field -------- Gujarat
(C) Lunejoilfield -------- Gujarat
(D) More than one of the above

(E)

None of the above

Which of the following pairs of places and

industries located there are correct?

(A) Bhopal ------ Heavy Electricals
(B) Bongaigaon ----- Petro chemicals
(C) Vishakhapatnam ----- Steel

(D) More than one of the above

(E) None ofthe above

How long is Atal tunnel?

(A) 8km

(B) 10km

(C©) 9.02km

(D) More than one of the above

(E) None ofthe above
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G-25.

FrfcTRera @ & S -+ afErs=T Hoom 7d ™

femz?

(A)
(B)
(©)
(D)
(E)

G-26.

AR # (T 2023) Heed IETEH Sl STt wSw

wEet

AT AR &Y

RTINS 9FR
Sudh § W U W Al
Iueh H A G T

HEA-TE?

(A)
(B)
(©)
(D)
(E)

G-27.

A H g HT GGE T IUTGH O

. e

Y T
e 8 & T R oA
3UYh U A IS T

(Sl 2024) S-T1E?

(A)
(B)
(©)
(D)
(E)

G-28.

WRA | AT 3796 & (a9 2023) | =@

LESIE]

IW JeA

HEA YW

Sud | | U W it
Iugh § A R T

ST IUTEH T HIA-HT 2 ?

(A)
(B)
(©)
(D)
(E)

W YW

HERTY

safem
Tugh & TR & afrs
IUFh H A RIS T
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G-29.

G-30.

G-31.

G-32.

Frafafen o=t @gEl 9 & wF-w @ ®
TORRTA 8 ?

(A)  TEHieeh T8, =rereita Sl e

(B) <hiEe, TTehiceh 114, deiferam

(C) ERZA, Ua Sit, Y—ardig Sl

(D) 3udw ¥ W U W Al

(E) SwdwAaRETE

eiferam &= oiR SR fefa At e 3 g
¥ fra freaffaa @ sR-a gmad 22

(A) THHIA T - AW
(B) wcileA a1 & — TR
(C) TSI A &1t — o
(D) 3oger & A T & aifrw
(E) Sudvh o & g T

T 3R o fera 3wt o s FforfRaa gt
dawm-dgEEA e

(A) e - gl s e

(B) Tt — Ugtehfhed

(C) Frmemuem - et (3em)

(D) o # A T A o

(E) Sudwh & g T&

e G fohat el 2 2
(A) 8 freiiie

(B) 10 feremiie

(C) 9.0 freirdiex

(D) 3o A Tk @ afern
(E) SwEwAaRETE
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G-33.

G-34.

G-35.

G-36.

Which of the following characterises
sustainable development?

(A) complete dependence on and
adaptation to the nature

(B) to maintain a balance between
economic development and
environmental quality

(C) unrestricted use of non-renewable
energy for economic development

(D) More than one of the above

(E) None ofthe above

Which nation is the largest trading partner
of India (Year, 2023)?

(A) United States of America
(B) China

(C) Russia

(D) More than one of the above
(E) None ofthe above

Which of the following pairs of coal fields
and state of their location is correct?

(A) Talcher ------ Odisha

(B) Vishrampur ----- Madhya Pradesh
(C) Singrauli ------- Chhattisgarh
(D) More than one of the above
(E) None ofthe above

Sundari tree is found in

(A) Khasihill

(B) Sundarban delta

(C) Nicobar Islands

(D) More than one of the above
(E) None ofthe above
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G-37.

G-38.

G-39.

G-40.

Which of the following sequences of
states/union territory in descending order
of their literacy rate according to 2011

census is correct?

(A) Kerala, Lakshadweep, Mizoram,
Goa

(B) Kerala, Goa, Mizoram,
Lakshadweep

(C) Lakshadweep, Kerala, Goa,
Mizoram

(D) More than one of the above

(E) None ofthe above

The leading producer of lead in India is
(A) AndhraPradesh
(B) Rajasthan

(C) Odisha

(D) More than one of the above
(E) None ofthe above

Palghat gap connects

(A) Goa & Karnataka

(B) Goa & Maharashtra

(C) Kerala & Tamil Nadu

(D) More than one of the above
(E) None ofthe above

Which is the longest National Highway in
India?

(A) NH44

(B) NHI1

(C) NH 544

(D) More than one of the above
(E) None ofthe above
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G-33.
(A)
(B)

©

(D)
(E)

G-34.

TrfotRam # & o foem i o - 2 ?

SRl TR U Rt TS SR | ST
afien forerma qen utarufi Tutast &
e HgeH

anfiens foremmer ¥ srieRtuT wEneRt
o IUI W hIS Ufcerer Tl
U | | U W e

3UYh U A IS T

WA <h1 HHeh STEa Fmur (7 2023)

frAcmFEma g e?

(A)
(B)
(©)
(D)
(E)

G-35.

g TT AR

L

w4

U U | U | 3Aferen
Iueh H A G T

HIAT A IR A fufa a@ == *

FrafrRen gmi # | wA-Tgm E@ 2 ?

(A)
(B)
(©)
(D)
(E)

G-36.
(A)
(B)
(©)
(D)
(E)

AR — 3t
fasmq - weawqm
et - o
I U | TH | AH
ST H A i T

el ger FraferRea & @ wgi wren s 2 2

e et

T e
frenram Sra T
I0R H A U A sl
IUFh H A I T
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G-37.

G-38.

G-39.

G-40.

37

TN /heg, e Te91 o IR HILRAT G/
ged %A | 2011 Y FTA0ET & FFHAR
freafaRaa d a FR-msFa @ 27

(A)
(B)
(©)
(D)
(E)

A, AT, Forstren, Tivam
A, e, forsrm, Sega
AL, e, T, s
e 8 & T R oA
IUFh H A RIS T

WA H E9 i W01 IATEH 8 —

(A)
(B)
(©)
(D)
(E)

Y T

TSTEAE

s
e 8 & T R oA
TR | W S T

rerare 3 freferiad § | freen siigar g ?

(A)
(B)
(©)
(D)
(E)

T a2 FAeh

T a2 HERTY
A AT ATATG
Sud | | U W it
Iueh H A G T

WA H T Tl THE TR SiA-T1E ?

(A)
(B)
(©)
(D)
(E)

.0, 44

LERLO R

T.Td. 544

Sud | | U W it
Iueh H A g T
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PART - 111

(ECONOMICS)
E-1. Iron and steel industry should be E-5.  Number of Sustainable Development
established near to: Goals (SDGs) by United Nations are
(A) Availability of raw material ore A) 15
(B) Markets
(C) Forest ® 16
(D) More than one of the above © 17
(E) None ofthe above (D) More than one of the above
(E) None ofthe above
E-2 What was the theme of the COP27
summit? ‘ ‘
(A) Together for Implementation E-6. The pnlted Nations Conference o.n
(B) Independent for climate change Slustlez?able Development (UNCSD) is
(C) Agreement for research and alsofnown as
development (A) Rio2010
(D) More than one of the above (B) Rio2011
(E) None ofthe above (©) Ri02012
E-3. Sustainability Science is the study of the (D)  More than one of the above
concepts of sustainable development (E) None ofthe above
and
(A) environme':ntal science E-7. Consider the following statements
(B)  generalscience regarding the public debt of Government
(C)  social science of India includes and select the correct
(D) More than one of the above answer.
N f'th
E) one of the above 1.  Treasury Bills & Dated securities
E-4. What do you understand by an inclusive 2. External Commercial Borrowing

development in the country? (ECB)
(A) Active participation of all the 3. NRIdeposits
segments of society in the country (A) 1only

(B)  Active participation of only business
households in the country

(C) Active participation of only poor
people of society in the country

(D) More than one of the above

(E) None ofthe above

12/MAV/M-2024-10/S-310-E

38

(B) land2only

(C©) 1,2and3only

(D) More than one of the above
(E) None ofthe above
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E-2.

PART - 111

(ECONOMICS)

g Ua 3eTa I fereres feke wenfum feren E-5.
Jme?

(A) = HTA Fh h ST

(B) ==w

C€) =

(D) Sudwh U @ Uk A ek

(E) Sudvh o & g T

COP27 frer awiem @ forag o= en?

(A) wmETEEA & fog g E-6.
(B)  Sieram,ufter % fore T

(C) orgaum iR fershra < fore wmitan

(D) Sudw ¥ ¥ Uk A e

(E) Sudw & s &

(C) wmfores formm
(D) SugwH | Tk W rfern
(B) 3ugwH A =i T&

291 o TuTavh e @ s = aHEa g ?

(A) <9 EHTS % T o o wisha wRiierd

(B) 3w # Fae AR WA h Al
LGy

(C) 291t Sherel TUTST o TS GIRTH ht @Afchel
wRiteRt

(D) 3ud A U @l

(E) Sudw & s &
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TYh Y R dad forehra @igal (Tadsh)
T E -

(A) 15

B) 16

<©) 17

(D) Sudw ¥ ¥ Uk A e

(E)  Sudvn o & g &

Haa fawm R g g @@ew (UNCSD)
H AR E -

(A) F=2010

B) 2011

(C) Far2012

D) o A T & s
(E) Sudvh o & g T

ARG THR & AEAHS RO & Hag §
FraferRaa wemt  forem = iR = s
1. gl foren o femifera wfasferat

2. o AuTieeR 3UR (SeEh)

3. UF IR 3ME S

INBE 8!

(B) = 1R 2

(C) ¥aw 1,233

(D) Sudw U ¥ Uk A e

(E) e d &gl
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E-8. The informal sector includes: E-11.
1. artisans, cottage industrialists, petty
traders, tea shop proprietors.
2. garbage pickers, jitneys,
unauthorized taxis, repair persons.
3. the self-employed.
4. IV activities with little capital, skill,
and entry barriers.
(A) land2only
(B) 3and4only
(©) 1,2,3and 4
E-12.
(D) More than one of the above
(E) None ofthe above
E-9. The additional capital used for per unit of
additional production is called:
(A) Induced investment
(B) Autonomous investment
(C) Incremental capital outputratio
(D) More than one of the above
E-13.
(E) None ofthe above
E-10. Under the seventh schedule of Indian
constitution, Agricultural marketing is in
which list?
(A)  Union list
(B) Statelist
(C) Concurrent list
(D) More than one of the above
(E) None ofthe above
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Which of the following denotes business
activity at high level with increasing output
and income?

(A) Boom

(B) Recession

(C) Recovery

(D) More than one of the above

(E) None ofthe above

The number of people in different age
groups is referred as:

(A) Sexratio

(B)  Age composition

(C)  Occupational structure

(D) More than one of the above

(E) None ofthe above

What is Sex ratio?

(A) Number of females per thousand
male

(B) Number of females per hundred
male

(C) Difterence between birth rate and
death rates

(D) More than one of the above

(E) None ofthe above
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E-8.

E-9.

E-10.

SO, &7 § e € ©
1. TR, FER TR, Bie W, A=
% G o TR

2. w9W dHA A, [a, smiigd
Sfaaat, moa %@ T

3. @W-IER

4. TR, Foe oiv S s
IV et

(A) e | 32

(B) & 3 3R 4

(C) 1,2,33R4

(D) Sudw U ¥ Uk A e
(E) Iuwgwrd &g Tl

srfafieh Seumga Rt ufa gie & foru su=m i
T3 Sifafieh Uit SRl gt ST E —

(A) ufia fEw

(B) @ et

(C)  Jfgefier goft 3earg srguma
(D) 3oer & A T & ol
(E) Sudvh o & g T
e e T sreeh i it B
fooum fF g A R ?

(A) =g

(B) TS

(C) et gt

(D) Sudw ¥ ¥ Uk A e
(B) Sudvhd & w3 T8
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o 7 | - Seurer iR s W gfg HEn
I TR G SHTAHT e T(feriel shi q9Tdm 8 ?

A)
(B) @&
(C) v
(D) v & v & Aferw

(E) SugwuawETd

fafr g =t o Tt ot e e R
(A)  fom sgam

(B) smgTam

(C) et we

(D) i A T A o

(E) vwAARETE

formgua s g ?

(A) fd TR gEu W Afgenat & @emn
(B) ifdt ¥t g H wigenati i wemn
(C) T & 3N YeIR & g 3R
(D) Sudw U ¥ Uk A e

(E) o @ s Td
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E-14.

E-15.

E-16.

E-17.

A large proportion of children in a
population is a result of:

(A) Highbirthrate

(B) Highdeathrate

(C) Highlife expectancies

(D) More than one of the above
(E) None ofthe above

Which of the following factors are
responsible for sparse population?

(A) Flatplains and abundant rainfall

(B) Rugged terrain and unfavourable
climate

(C) Fertile soil and abundant rainfall

(D) More than one of the above

(E) None ofthe above

Which of the following is an important
social indicator to measure the extent of
equality between males and females in a

society at a given time?

(A) Agecomposition

(B) Literacy Rate

(C) Sexratio

(D) More than one of the above

None of the above

)

Which one of the following is not a tertiary
activity?

(A) Banking

(B) Transport and Communication
(C) Building and Construction work
(D) More than one of the above

(E) None ofthe above

12/MAV/M-2024-10/S-310-E

42

E-18.

E-19.

E-20.

E-21.

The total area of India accounts for how
much percent of the world’s area?

(A) 2.4 percent

(B) 16.7 percent

(C) 3.28percent

(D) More than one of the above
(E) None ofthe above

What year is considered a great
demographic divide in India?

(A) 1921

(B) 1931

(©) 1751

(D) More than one of the above
(E) None ofthe above

Which of the following migration of
population does not change the size of the

population?

(A) External migration

(B) Internal migration

(C) International migration

(D) More than one of the above
(E) None ofthe above

Which of the following is not included in
Primary activities?

(A) Agriculture

(B)  Animal Husbandry

(C) Togive Education

(D) More than one of the above

None of the above

)
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E-14.

E-15.

E-16.

E-17.

SEE | =i <l Ueh e fgwmn fafeiRaa @
gRoTm R :

(A)
B)
©)
(D)
(E)

I AH R
Sk

I ST T
SUgh | | T ¥ St
Iueh H A T

frateitaa Rt § @ -1 e fBewE
e % forg fomtier g 2

(A) wHAA B TR SR 9 § aui

(B) =ige gomeh SR Sicher wereg

(C) 3uIs: Tt SR g wen | ot

(D) Sudwh U @ Uk A ek

(E) Sudvh o & g T

FraferReaa # & ves Ffda wa o o & gt
R AfgeTall o sfrer AHdT il HieT <l 7o S
foTu ueh wgcaguUt wrTeR Hehdew @ -

(A) smgT=E

(B) weRAR

(C) femmgama

(D) Sugw A U A arfern

(E) Sudw & s &

Frafefaa @ @ wa-o1 v geitae wfafafa
TERe
(A)
B)
©)
D)
(E)

e
R st
w3 Frvion
e i 8 T & T
T U A IS T
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E-18.

E-19.

E-20.

E-21.

IR T Fe ST G o SITthet B fehat
Tfaea g ?

(A) 2.4l

(B) 16.7 ufaw@

(C) 3.28 ufdwm

(D) I A Uk A 3ifern
(E) Sudwh & g T&

WA H fShE o ol Ueh A SHEIGIeR [
AT ?

(A) 1921

B) 1931

(C) 1751

(D) Sudw ¥ ¥ Uk A e
(E) Sudw# & s &

SEE & fefalaa v 8 | sa-
SEEAT o HATHR hi T&l AaeTdi 2 ?

(A) el vaE

(B) s yard

(C)  siemiga sam™

(D) Sudw U ¥ Uk A e
(E) Sudw & s &

werfires nfafafern o FrafaRaa & @ wa-o
ML E R

(A) FR

(B)

©)
(D)
(E)

Ty]-UTe
fen g

Sud | | U W it
I H ARG T

9
£
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E-22.

E-23.

E-24.

Which one of the following is a market
activity?

(A) Ateacherteaching her child
(B)  Ateacher teaching in school
(C) A mechanic repairing his car
(D) More than one of the above
(E) None ofthe above

Which is the state with highest number of
Scheduled Castes in India?

(A) AndhraPradesh

(B)  Bihar

(C) Uttar Pradesh

(D) More than one of the above
(E) None ofthe above

Which of'the following programme was
launched in the year of 20007

(A) National Rural Employment
Guarantee Act

(B) Swarnajayanti Gram Swarozgar
Yojana

(C) Pradhan Mantri Gramodaya Yojana

(D) More than one of the above

(E) None ofthe above
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E-25.

E-26.

E-27.

Which scheme was started in 1993 to
create self-employment opportunities for
educated unemployed youth in rural areas

and small towns?

(A) Prime Minister Rozgar Yojana

(B) Rural Employment Generation
Programme

(C) Swarnajayanti Gram Swarozgar
Yojana

(D) More than one of the above

(E) None ofthe above

Which among the following is the method
to estimate the poverty line in India?

(A) Investment method

(B) Capital method

(C) Incomemethod

(D) More than one of the above
(E) None ofthe above

What is the average calorie required in
rural areas for measuring poverty?

(A) 2400 calories per person per day
(B) 2100 calories per person per day
(C) 2800 calories per person per day
(D) More than one of the above

(E) None ofthe above
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E-22.

E-23.

E-24.

Frateiften & @ Ao v e it 2 ?
(A) 31U = i UG AT U Rt
(B) v ugH e ek

(C) Uk Hehi-eh 31U TR <hl TR oY @1 2
(D) 3udwh ¥ A U | 3R

(B) SwdwAA®gd

A | ST S B T Siferes we e
T HA-TTZ?

(A) STgwEw

(B) R

(C) swuw

(D) oA TR A
(E) 3ugwhd & g 78

fFrafefea § @ sA—a s a9 2000 4§
- feRaT TR e ?

(A) T s e e
(B) e e ST TR AT
(C) e sl e

(D) wwdes & v & Ao

(E) Sugwh & g T
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E-25.

E-26.

E-27.

TetoT St 3TR Bie vEi ¥ fifera SRR gensit
% foTu TerieTTR o 31eer Ge & o fore 1993
H AT IS I i T8 ot ?

(A) T ISR FT

(B) Tt ASHIR T HIEisR

(C) Tl ST UTH TRISATR it

(D) SugwH | Tk W fern

(E) uwgwrd @l

WA | TS W S STH oTH Sl ffoTiad
A wHA-di fafa e

(A) FembR

B) Wi

(C) smfaf

(D) S A T & s
(B) vofen sl & T

Tl =Rt AT <k foTu Imion &t | sivea et
N EATIRA IR ?

(A) wfa=afen s far 2400 i
(B) wfasafen s fim 2100 i
(C)  wifa fem sfe =afem 2800 it
(D) wwdes & v & oAferm
(E) wodwnd & g
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E-28.

E-29.

E-30.

E-31.

The calorie requirement is higher in the rural

areas because:

(A) theydonotenjoy as much as people
in the urban areas

(B) fooditems are expensive

(C) people are engaged in physical
labour

(D) More than one of the above

(E) None ofthe above

Which one of these is not a cause of

poverty in India?

(A) Lowlevel of economic development

(B) Migration of people from rural to
urban India

(C) Unequal distribution of land

(D) More than one of the above

(E) None ofthe above

In which year was NREGA enacted?

(A) 2005

(B) 2000

(C) 1999

(D) More than one of the above
(E) None ofthe above

Which of the following is not considered
as a social indicator of poverty?

(A) Lessnumber of means of transport
(B) lliteracy level

(C) Lackofaccess to health care

(D) More than one of the above

(E) None ofthe above
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E-32.

E-33.

E-34.

The second stage of demographic
transition is suitably known as:

(A) Population Challenge

(B) Population Development

(C) Population explosion

(D) More than one of the above

(E) None ofthe above

The lowering of Bank Rate by the Reserve

Bank of India leads to:

(A) More liquidity in the market

(B) No change in the liquidity in the
market

(C) Mobilization of more deposits by
commercial banks

(D) More than one of the above

(E) None ofthe above

The Reserve Bank of India (RBI) acts as
abankers’ bank. This would imply which
of the following?

1. Other banks retain their deposits
with the RBL.

2. The RBI lends funds to the
commercial banks in times of need.

3. The RBI advises the commercial
banks on monetary matters.

Select the correct answer using the codes

given below:

(A) 1and2only

(B) 2and3only

(C) L2and3

(D) More than one of the above

None of the above
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E-28. umHior &= # et Y Strervaehdan SAfeen @
T :

(A) A vrgd & & AR % w0 H S e
T g

(B) e W §

(C) iR m i v gu d

(D) ugvsd A U% @ sifew

(E) Sudvhd & s T8

E-29. 3 A -1 WRA § T o HROT T 2 ?
(A)  anfefe forerm o freer
(B)  wimeior © TEt WRe W AT Bt UeArE=
(C)  fereh gremm formeon
(D) Sudw U ¥ Uk A e
(E) SwwAaRETE

E-30. NREGA fora o o @wy feren e en?
(A) 2005
(B) 2000
(©) 1999
(D) Sug<hH | U W ifern
€) wmdawdd

E-31. frafeRaa # @ frm wist o amtse gues
TE AT AR ?

(A) uftee % Tl o HE g

(B) FrRemaiER

(C) A SN Teh g i A
(D) Sudw ¥ ¥ Uk A e

(E) 3ugehd & g 78
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E-32.

E-33.

E-34.

SRt wshUT At et sreren i gesa
A H1 1T 8

(A)  SHEEE g

(B) e famm

(C) e fermre

(D) Sud<hH | U W ifern

(E) vwAARETE

WS RTel Sieh g1 Sieh oY ohl hH ST Hehdl @ ¢

(A) aIRH e Tera

(B) =R H weAfAfer 8 g ufad gt

(C) anforfeaes Sl grn stferes s @
ST

(D) Sudwh U @ Uk A ek

€ wewiawE

WRe fistel S (RBI) Uk siehd sieh o &0 |

& o ¢ | FrefeRaa | A e wd g e

1. 31 dich TRENSTE o UTH STUHI ST AT
@A g

2. RBI & % 90T H A0TSRk Sehl sl
& T SUR AT 2

3.  RBI Hifges ame w anforfees St
TEATE AT

et fEu T e T SUERT ek T ST YA
(A) e 18R 2

(B) 23r3&

(C) 1,283

(D) 3udw ¥ A UF W Afw

(E) SwEwAaRETE
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E-35. InIndia, deficit financing is used for raising
resources for
(A) economic development
(B) adjusting the balance of payments
(C) reducing the foreign debt
(D) More than one of the above
(E) None ofthe above
E-36. GNIGPL-Gail India biogas plant will be
set up at which place in Bihar?
(A) Masaurhi, Patna
(B) Atrah
(C) Brahmpur, Buxar
(D) More than one of the above
(E) None ofthe above
E-37. Which among these is not the feature of a
Special Economic Zone?
(A) Topclass facilities
(B) Flexibility in labour laws
(C) Do not have to pay taxes
(D) More than one of the above
(E) None ofthe above
E-38. The Dagmara Hydro-Electric Project is
concerned with which river in Bihar?
(A) Kosi
(B) Bagmati
(C)  Punpun
(D) More than one of the above
(E) None ofthe above
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E-39.

E-40.

Bihar State Seeds Corporation has got

ISO certificate, consider the following and

choose the correct answer:

l.

(A)
B)
©
D)
)

Quality Management and Practices
Certification

Environmental Management
Practices Certification

Anti-Bribery
Certification

Management

1 only

2 only

1,2 and 3 only

More than one of the above

None of the above

Total receipts in 2023-24 budget other
than borrowings compared to revised
estimate of 2022-23 budget are expected

to register an increase of what percentage?

(A)
(B)
©
(D)
E)

8%

7%

6%

More than one of the above

None of the above



E-35.

E-36.

E-37.

E-38.

WA T, T o fort diwot s suent o foro saem
e % fore foren <

(A)  onfeie feremm

(B) T HeH <Rl FHTEAIS Al
(C) Tl ot At | e

(D) SuF*h W @ U A Afern

(E) Sudvh o & g T

SHTARTESIYITA — T Sfeen are a9t fagr
¥ foret o o wenfue femen stmam 2

(A) wEE, ge

B)

(C) R, TR

(D) Sudw U ¥ Uk A e
(E) Tegwdawgd

e o @ farw snfefer g v FR—wt ferrwan
TEe?
(A)
(B)
©)
(D)
(E)

I TR glaumw

S I H ST ATIH
w R
SUgh | | T ¥ St
Iueh H A g T

TR e ferege uftEer o s fagr 4 form
TRAR?

(A) =l

(B) =mwdt

©) g

(D) Sudw ¥ ¥ Uk A e

(E) SwdwAaRETE
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E-39.

E-40.

forgr Tom &i fem =Rt srSTE e v o e
2, Frafefea w feem R s et smogd

1. ToTEs TEeH SR ST JHE
2. UETERUT VS ST SHIOEH
3. fvaa o waem yoe

(A) e |
(B) haei2
(C) ¥aw 1,233
(D) SudwhH 9 UF | 3w

(E) 3ugwrd &gl

2022-23 S aTe o FYNfed STAH ot g |
3YR o teran 2023-24 o sie | FHed wieat
# fere fcrera <t gfeg 3t g 1 IR 2 ?

A) 8%
B) 7%
C) 6%
D) o A T @ s

(E) SugwuawETd
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P-2.

PART - 111
(POLITICAL SCIENCE)

Given below are three statements , one as
Assertion (A) and the others as Reason
(R-1) & (R-2).

1)  Assertion (A) : The democracy
ensures that we shall be governed
no better than we deserve.

2)  Reason(R-1):The Man’s capacity
for justice makes democracy
possible.

3)  Reason(R-2): The Man’s inclination
to injustice makes democracy
necessary.

Select the correct answer from the code
given below :

Code :

(A) only 1iscorrect

(B) only2iscorrect

(C) only3iscorrect

(D) More than one of the above

(E) None ofthe above

Who of the following said that the
democracy is the best, ‘it stands above
doubts’?

(A) Seeley

(B) Rousseau

(C) J.K.Galbraith

(D) More than one of the above

(E) None of the above
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P-3.

b)

d)

Match the List-I with List-II and select the
correct answer from the code given below
the lists :

List-I List-II
(Comments) (Commentators)
The democracyasthe 1. Lecky
government by poorest,
the most ignorant &
most incapable people
The democracyasan 2. Talleyrand
aristocracy of backguards
The democracyasthe 3. H.G. Wells
government of mindless
and ignorants
The democracy as 4. Fogget
the government full
ofignorance
Code:
(A) a b c d
1 2 3 4
B) a b C d
4 3 2 1
C) a b c d

2 3 4 1

More than one of the above

D)
(E) None ofthe above
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PART - 111
(POLITICAL SCIENCE)

P-1. radA s i m g e v siftrmem (A) P-3. o - [ e - 1] & gafea fifce aen gfeat

qer 7 wRot (R-1) a2 (R-2) 3 : o e o2 T e ¥ T S g
1)  cfreRed (A) : Flicha= iRTvod otan g T - 1 = - 11
o zw e a2 30 Sgar sre T
feren s (feoutt) (Roaoft = o)
2)  @rut (R-1) : = ¥g oG e o) FR i, T T 1) &
TR = ! Te9E T 2 v T s A
I o &Y | Ak

3) @wur (R-2) : 3= & 9fd 9Fa &

TS, T 1 ST = o b) YR F e EE s 2) SR
2 33 73 e A T I T R &Y H Tk
F<: ¢) AR TE TE F AR 3) TasAE
% Y H ks
(A) EecEri
d) e & gut 9eH o & 4) wRE
(B) FaA2wdE S
(C) Fam3adg -
;| AR
(D) SEHHATHA W oa b e
(E) 3udeh ¥ & hig & 1 2 3
B) a b c d
P2, il o v o P e w2, e 4 3 2 1
TRAWE?
() a b c d
@) et 2 3 4 1
B) w3 ‘
(D) 3w H A UF | ek
(©) w3 fremeid
(E) IwdhAARETE
(D) 3 A TH A Aferh
(B) swdehdawhE @

OF)
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P-5.

P-6.

P-7.

With reference to the democratic

government in India, which of the following

statements is/are correct?

(A) It is more accountable form of
government

(B) The democracy in India made the
government respond to food security

(C) The democracy requires that the
rulers have to attend the needs of
the people

(D) More than one of the above

(E) None of'the above

Who of the following said, Political liberty
in the absence of economic equality is a
mere myth?

(A) LordBryce

(B) GD.H.Cole

(C) Mahatma Gandhi

(D) More than one of the above

(E) None ofthe above

Who of'the following was of the view that
‘all the ills of democracy can be cured by
more democracy’?

(A) Garner

(B) Barker

(C) Alfred Smith

(D) More than one of the above

(E) None of the above

“The Indian forest service” in India came
into existence in which year?

(A) In1859
(B) In1863
(C) In1864

(D) More than one of the above
(E) None of'the above
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P-8.

P-9.

P-10.

“The Imperial Forest Research Institute”
came into existence in 1906 at which of
following place?

(A) atShimla

(B) atDehradun

(C) atCalcutta

(D) More than one of the above

(E) None of'the above

Which of the following statements about
the weakness of democracies in the
contemporary world, is/are correct?

1)  The decision making and their
implementation taken too much time
in democratic governments.

2)  ThePolitical parties mostly make the
democratic governments immoral
and powerless.

3)  Theregional interests become more
powerfull than the national interests
inthem.

Select the correct answer from the code

given below :

Code :

(A) only1is correct

(B) only2iscorrect

(C) only3iscorrect

(D) More than one of the above

(E) None of'the above

Which of the following statements befits
to the democracies in present times?

(A) Thedemocracies involve some loss
of immediate efficiency

(B) The democracies may increase their
efficiency in long run

(C) The democracies need required
improvements to be done in it in
place of choosing the dictatorship

(D) More than one of the above
(E) None ofthe above
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P-6.

P-7.

WA T Aehdif=eh TehR & qera i, e d &

HA-TT /AR TG E?

(A) TE 3tferes ST e & &9 2

(B) WA ¥ SAieha= = YT Shi Wel TReT 8
e o & fen 2

(C) Areha= 3TN e 2 foh v =t e
I TTEvEHRAIS W &= 3|

(D) Iudeh ¥ @ U A AR

(E) SwgwmudREE

Frifera @ @ forem =gt o, anifeles w5
WS | TSI T Ueh FH A 22

(A) wEsmEER

(B) Shdva. wad

(C) wREm M

(D) SudwH A TE W Afm
(E)  vudwhd & g

= o @ form  fomm on o6 ‘e hasfi am
JAferes Fiehd = g1 Siek TR ST EeRd 22

(A) TR

(B) =R

(C) ukefRam

(D) I W T A Aferh
(E) SwgwmudREE

WA H ‘W a=dan fm 8 @ form ad sifere
e et ?

(A) 1859%

(B) 1863 #

(C) 18647%

(D) 3udw ¥ | TH A AU
(E) Swdwda g
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P-10.

31 sriifae Wit ferd gdiege v 1906 |
o @ fora T W arfeaea | s en e

(A) Tmend

B) g d

(C) wowmd

(D) SUg+h T A TH A s
(E) Sugwhd e T

TAlehe=l <hl deehTciA fI9el W ShUSIIE o SR H,

fada s R-a/a s a2

(1) Erewaites IEHT # fFor o1 ua Ao
HRIEY  URUTT Sgd THE @ 2|

(2) USHifa® T SNfeeRIE:, Tlhdiris
I Rt e Ud TREA o 21

(3) I &g fga whia fF@i @ siftes
orfeReTTett 81 S 2

it fq2 T e | FE I o it |

e

(A) et 1 w@e

(B) 2@

(C) w3 wdie

(D) SuYH A UF | 3Nferek

(E) Sughd @ e T

i ® | F - Huw FAuE qHg o A

& IR 27

(A) AR T ATcehl{oTeh ShIEIGITCTl <l EH
R S 2|

(B) ek oia W0 U 37U erdT St =at
ehdl 2l

(C) AT o < o T W ekl o
AT STEYh Rt i fordl I i
ATy B

(D) 3ugh ¥ | U | HAfew

(E) SudwHa®ETE
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P-11.

P-12.

P-13.

P-14.

The principle of Parliamentary supremacy
is followed in which of the following
countries?

(A) InIndia

(B) InBritain

(C) InAmerica

(D) InChina

(E) None of'the above

The first commission to identify the
backward classes in India, was formed in
the Chairmanship of who of the following?

(A) B.P.Mandal

(B) SriRamdhan

(C) R.N.Prasad

(D) KakaKalelkar

(E) None ofthe above

At the time of Independence, the ruler of
which of the following princely states
wanted to join Pakistan but the people

wanted to join India?

(A) Junagarh

(B) Hyderabad

(C) Kashmir

(D) More than one of the above

None of the above

)

Which of the following was the main aim
of setting up of Planning Commission in
1950 in India?

(A) To frame such policies which help

rid India of poverty only
(B) To ensure economic development
only
(C) Tobuild modern industrial base only
(D) More than one of the above
(E) None of'the above
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P-15.

P-16.

P-17.

P-18.

Which of the following was Gandhiji’s
expectation from Independent India’s
constitution?

(A) Itshall release India from thralldom
and patronage

(B)  All communities must live in perfect
harmony in the country

(C) The women will enjoy the equal
rights as men in India

(D) More than one of the above

(E) None of the above

The standard to examine and evaluate any
law and the action of the government in
India, is mainly found in which of the
following?

(A) In Fundamental rights of the
constitution

(B) Inthe Directive principles of state
policies of the constitution

(C) Inthe Preamble of the constitution

(D) More than one of the above

(E) None ofthe above

Which of the following was the procedural
committee of the Constituent Assembly of
India?

(A) The Finance and staff committee
(B)  Adhoc committee on National Flag
(C) Commission on Linguistic provinces
(D) More than one of the above

(E) None ofthe above

Who of the following was the member of
the Drafting Committee of the Constituent
Assembly of India?

(A) N.Gopalaswami Ayyangar
(B) Alladi Krishnaswami Ayyar
(C) T.T.Krishnamachari

(D) More than one of the above
(E) None of'the above
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P-11.

P-12.

P-13.

P-14.

ArEdE et & g w srge,
o fra g d R ST 2 2

(A) wra#

B) fwead

(C) omfmd

(D) <=

(B) Sugwhd @ T

e | U2 ot Y uge g T 9 STER
T 7 = forereht stemeran ® wifga fean = e ?
(A) s Hga®

(B) sit. TmeR R

(C) M. vERH

(D)  <hTeht hIcieht <At

(E)  vudwhd & g

Tt & wvd, e o & for framea 3 v
ITfeREAT H STt 21T <ITga ) R ST HRA §
IR 2T gt o ?

(A) EEER

(B) EEERH

(C) =i

(D) g a T & i

(B) sudws it & feeh i oft i

Pt e, 1950 # 2T STrEwT T

I 32T R AT?

(A) e vE Hifaat s T T S wwRd
i T | E T A e |

(B) o snfies forema gfvaa s

(C) wam angyfek sirnfires sneam Ffta s

(D) SudwH A TF W Afm

(E) g d @ g ot vl
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= o @ Trefish it Tas wRa & w@feam |

AT Sr0er ot ?

(A) o ARA i STHAT T EREA0T § ek e
e G|

(B) 30 % srauTa At AU Ui WiuE
Ehesieutal

(C) ufgem™ g&Eui & a9H WRa ¥ TuH
AR 1 SUNRT AT

(D) U3 TH | A

(B) Sughd@ e T

ura § feredt fafer qen sram & w6t w6 ufteror
T Yedieh 3 U, Fre o 3 gem: fea |
TSR ?

(A) wfererm < Hiferes atfereri ®

(B) wifaem % wear o Hifa fdvres aen o
(C) wferem S e d

(D) SudwH A UE A Aftrn

(E) Sugvhd & forelt o =i

= |4 1, yra = gfaam fEE aw h
TfshaTeres |l -4 oft ?

(A) form wE s Al
B) i e e
(C) Tt Tt UR TR
(D) SUg+h T A TH A s
(E) Swdwda g

e 1 |, wra i wfeem FoiEh g f o
iU 1 A T a1 ?

(A) TR, MUTCRETH R

(B) ST FoUTEEl SR

(C) A2 Fomr=md

(D) 3w H A UF | ek

(E) Sughd@ e T
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P-19.

P-20.

P-21.

P-22.

‘Hindi shall be the official language of the
Indian union’, was decided by the Drafting
Committee, on which of the following date?

(A) On2I1* February, 1948

(B) On 14" September, 1949
(C) On26™November, 1949
(D) More than one of the above
(E) None ofthe above

Who of'the following called the Constituent
Assembly of India, “a one party, one party
body in an essentially one party country”?

(A) Granville Austin

(B) K.V.Rao

(C) IvorJennings

(D) More than one of the above
(E) None ofthe above

The preamble of the Constitution of India
assures the people of India about which
of the following?

(A) About the dignity of the individuals

(B) About the unity and integrity of the
nation

(C) About the equal status and
opportunity of the people

(D) More than one of the above

(E) None of'the above

How many types of liberties are provided
in ‘The Preamble of the Constitution of
India’?

(A) ofTwo Types

(B) of Three Types

(C) ofFive Types

(D) More than one of the above
(E) None of'the above
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P-23.

P-24.

P-25.

Bihar is in the zone of which zonal council
in India?

(A) In the zone of Northern Zonal
Council

(B) Inthe zone of Central Zonal Council

(C) Inthe zone of Eastern Zonal Council

(D) More than one of the above

(E) None ofthe above

With reference to the model of scientific
secularism in India, which of the following
statements is/are correct?

(A) Itis dynamic by nature and suits to
the requirements of a progressive
nation

(B) It keeps religion and politics
separate from each other

(C) Itkeeps every community with in the
sovereign authority of the
Parliament

(D) More than one of the above

(E) None of the above

Which of the following is the main feature
of democratic elections in India?

(A)

In such elections every one has right
to vote with the equal value of vote

(B) In such elections, voters have
opportunities of real choice at the
regular intervals

(C) Such elections are conducted in free
and fair manner

(D) More than one of the above

(E) None of'the above
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P-19.

P-20.

P-21.

P-22.

= v T= R T gl e |t
g faa o @ e fafer =6t ffota ferem e 2

(A) 21 wEd, 1948
(B) 14 forewar, 1949 @
(C) 267@=R, 1949 %
(D) SugwhH A TH A Afew
(E) 3udeh ¥ & hig &

1 o = foraa wia & wfaeme faE aw

‘T T, AV €U | THEed o9 § Th
TAT TEA TAATIT AT ?

(A) Irfre smfeA
(B) wH.w@A

(C) AR

(D) SugwhH A TH A Afew
(B) swdwhd@wgTd

WRA o AL <kl Sedrer A | | forees ar
T WA o A <hl ST Sl 2 ?

(A) =aferal i i SR |

(B) g Uehal U 3EEAT o AR A
(C) i & TUH &R Ud 3R & aR o
(D) SugwhH A TH A Aferw

(B) swdwhd@wgTd

WRA & G 6 g&ea ° fhad gemr @
T g <hl TR g ?

(A) JATERH

(B) A IERE

(C) draTFERH

(D) SughH A TH A Afew
(B) swdwhd@wgTd

12/MAV/M-2024-10/S-310-E

57

P-23.

P-24.

P-25.

forgre st 2 o e v 6 v B
o o ot 3 g

Srfra v e 3 g

et i e 3 e
g i 2 v A ot

I W A R T

(A)
(B)
(©)
(D)
(E)

WRA § yHAdear & A ey & g<H |
fadasa/a s adee?

(A) T TeRid A TeATeHeh @ e Sfasiiet g
& STATIHATI A Hed Wi 2

T YW qAT TSI ot Teh TER H T
T gl

(B)

g TAE TG W HEE H Ty
AT o aga WA ?

e i & T & T
IUYh U A IS T8

(©)

(D)
(E)

= # @ vra |, et Ratent f s
oo - g e

(A) ta fater d g = die & aum
g & TA-T A I T HARERR
@A

H et 1 weemn i Fafa s
W AR ST % STEER ITH 2 2
8 fratm @ v fvay @l @
e R S )
IUYeh | 9 Uk W Afen

IUYh U A IS T8
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P-26. Which of the following statements are
correct about the political competition in
the country?

(A) It provides the way to select our
future leaders

(B) It makes the political system to
work better in long run

(C) It presents an opportunity to the
people to reward the political
leaders for serving them or punish
for not doing so

(D) More than one of the above

(E) None ofthe above

P-27.  Which of the following state of India
possess special status due to their peculiar
social and historical circumstances?

(A) onlyAssam

(B) only Nagaland

(C) only Arunachal Pradesh

(D) More than one of the above
(E) None ofthe above

P-28. Which of the following languages are
mentioned in the Eighth schedule of the
constitution of India?

(A) Bodoand Dogri

(B) Oriyaand Sindhi

(C) Nepali and Santhali

(D) More than one of the above
(E) None ofthe above

P-29. How many seats are found reserved for
women, in local government bodies in
India?

(A) one fifth of the all seats

(B) one fourth of the all seats

(C) onethird of the all seats

(D) More than one of the above

(E) None ofthe above
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P-30.

P-31.

P-32.

P-33.

The National Commission for Backward
classes in the country, was formed by
which of the following amendment of the
constitution of India?

(A) By 100" amendment

(B) By 101*amendment

(C) By 102" amendment

(D) More than one of the above

(E) None of the above

The form of oath for the members of
Parliament is found in which of the following
schedule of the constitution of India?

(A) Infirstschedule

(B) Inthird schedule

(C) Infifthschedule

(D) More than one of the above

(E) None ofthe above

Which of the following statement about the

extention of the period of Parliament during

emergency, is/are True?

(A) Itmay be extended up to one year
in emergency at a time

(B) Itmay be extended up to 8 months
only at a time in emergency

(C) Itmay be extended up to 6 months
after the closing of emergency
(D) More than one of the above

(E) None ofthe above

Which of the following statements about

the ministers in the country is/are correct?

(A) The cabinet ministers are in charge
of major ministries & the decision
makers in the name of council of
ministers

(B) The state ministers with independent
charge are in charge of smaller
ministries and attend the meeting

when invited

(C) The ministers of states are to assist
cabinet ministers

(D) More than one of the above

(E) None of the above
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T 7 B AT e g A s Sifaenfere
FARHAAR?

(A) =g wfersa o Yansit o o= o HE gEd
Eackd

T TSI Tcleh el Shl oTFl THT | i
T B 31D | 37T 5 2

TE ARTH SRl ITeh! B3t 3 Jha T
AT UHT 7 A ATl ohl, afed A &
AR IEH H 2

Sud | | U W iferen

S 8

B)

©

D)
(E)

1 4 @ wwa w1 FA-T T SO S
AT Ue Ve uftfefaat o wror, e
T I ARUTHRTAT ?

(A) Fact 3Em

(B) aA NS

(C) AT ITEUTTEA TSI

(D) SughH A TH A Afew

(E)  Sudeh o & g

e v - TR, WRa SRl S snee
T | Shgia 27

(A) =EiTEET

(B) sfsanaen faeh

(C) Iureht qen wwredt

(D) 3udeh A ww A aftrs

(B) Sugwhd @ T

TRt ¥i¢ WA § T I i Eeenatt
R Afgenel % ford smier urht st 22

(A)
B)
©)
(D)
(E)

Tt |l Sl Ueh UrErat W
el Tiei <R O Wi
e el <R o fgrg

I A T A T
Iugh A G T

12/MAV/M-2024-10/S-310-E

59

P-30.

P-31.

P-32.

P-33.
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P-34.

P-35.

P-36.

Which constitutional amendment binds the
President of India to act in accordance with
advice rendered by the council of
ministers?

(A)  The Thirty ninthamendment
(B)  The Forty second amendment
(C) The Forty fourth amendment
(D) More than one of the above
(E) None of'the above

Which of the following provisions for the
independence of Judiciary are found in
India?

(A) The constitutional appointment in it

(B) The salaries and allowances of the
judges are charged on the
consolidated fund & they are bared
to the legal practice after retirement

(C) Immunity from reckless criticism of
their judicial conduct

(D) More than one of the above

(E) None ofthe above

How much may be maximum strength of a
Vidhan Parishad in a state of India?

(A) It cannot be more than 1/5 of the
total strength of the State Vidhan
Sabha

It can not be more than 1/4 of the
total strength of the State Vidhan
Sabha

It can not be more than 1/3 of the
total strength of the State Vidhan
Sabha

B)

©

More than one of the above

(D)
(E)

None of the above
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P-37.

P-38.

P-39.

P-40.

In India which of the following statements
relating to “The Right to Protection of Life
and Personal Liberty’ is correct?

(A) Itisavailable to the citizens only
against the state

(B) TItisalsoavailable against its violation
by private individuals

(C) This right does not promises the
dignity of life

(D) More than one of the above

(E) None of'the above

The Right to education of the children of
the age of six to fourteen years is made
their fundamental Right by which
constitutional amendment in India?

(A) By44™amendment

(B) By 86™amendment

(C) By91*amendment

(D) More than one of the above
(E) None of the above

Which of'the following is the main challenge
to the Indian political party system?

(A) The lack of internal democracy
within the parties

(B) The lack of dynamic system of
succession to first one in the parties

(C) The growing role of money and
muscle power in parties specially
during elections

(D) More than one of the above

(E) None of'the above

Which of the following may be called the

outcome of democracy in India?

(A) The formation of a legitimate,
responsive and accountable
government in the country

(B)  Economic growth and reduction of
inequality and poverty in the country

(C) Theexistence of the accommodative
rule in the country for social diversity
along with the dignity and freedom
of the citizens.

(D) More than one of the above

(E) None of the above
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P-39.

P-40.
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